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NOTE: Sactlons B and C comprisa pages

 ENGLISH COMPULSORY SSC-1

-1-2. Answer all the questions from Secticns ‘B’ and ‘C' on thy

Q2

Nota:

separatély provided answer book. Wrlte your answers neatly and legibly,

Si

Rn.ﬂ the following passage carefully and
Question Ne. (I) appendad to L

=5 5
answer any FIVE questions Including °

Quastion (1) about summary writing s compulsory carrying 08 marks whrh rest of the

quastions carry 03 marks each,

One day, standing at the beside of a yaung patient,’| wonderad If she could maka the same
recovery ke others. Hira had racelved severe head and spinal Injuries as she was hit by a

speeding buslwhiln crossing the busy road,

- sgveral exercises on her but in va_in._AIso.J

thinking that the vaice of near and dear ane
see but not talk. Her eyss showed a certain h

Perhaps she wanled to cay, "Pleass help me”, A fellow nyrse came near m,

what are you doing? Fighting a last batie?”
hopeleds commant, Then | replied, "l am try

| tack her lifaless.arms n my hand and tried fo do
asked her younger sisler o éome and [l o, her,
might activals tha nearly dead neyrang. She could
elplessness. | could read her ming thraisgh her eyes,

I Was shocked at first to hear a, making a
ing to maka her brain Frocess by her slsler's vaice,

This might help her wak lke normal persor, Meariwhile, a senior dactor o duty, walked in, He

gava me an Ienje emile and said, “If yey gp

QUESTIONS:

Wite ucjwn'lrm summary of the PEssage. Also suggest a sullable tita,

end most of your duty haurs an ona patient, we will

Nionelass case and the bad must ba spared for sther patlents,,

iy What happaned to Hira? L s v
(i} To what extent daas the racavary of a patient depend upon the doclor and {he nurse?
(M) Why younger sistar.of Hira was ssked 19 have conversation with patient? - 2
vy Explain the phrass: “Try snce for her”, . £
(M) Deseribe some qualities of the'murss manticned in the passage,
") Glve the synanyms of the underiined veards. (Any three)
Q.3 a.  Paraphrase any ONE of the follawlng utanzas:’ te '

0] | wandered lonaty as a cloud , * () Bestill, sad heart, and £ease repining;
That floats on highar O'er vales and hills, Behind the clouds is the sun still shining;
When all at once | saw 2 cromd, The fate is the common fats of all,
A host of gelden daffodils; OR"  Into each life some rain mysi all,
Beside the lake, beneath the trees, © Some days must b dark and dredry,

Fluttering and dancing in the breezg, - ;i
b. Read the following stanza carafully and answer questions given at the end:
1] He gave hls hamgss belis a shakg . !
To ask If there is some mistake, :
only ather sound's the swegp
Of easy wind and downy flake: o 20
QUESTIONS; ' q %

(I} Wiite the thyming words from the slanza, -

() Explain the phrase *of easy wind and downy flake”,

() Write the meaning ef underlined words, (Any bea)

(W) Who s shaking hamess ball and for whom?

() Which poetic device Is uszd in this stanza? -

i ' J OR, y
' Page 1 of 2 (Englsh) *

e 2nd asked, ‘Rahils, .

[{

1

B+dxi=1g)

{5+1=5}

(03)

(08)

4]
(L))
).,
L@
a
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(i

The ngle wrote, snd yanished. Tne next nlght .
{t cofme agaln wilh a great wakening Faht o ¥
And showad tha pames wham Jove of Gad had plesl,

‘And Lol Ben Adhem's name [ed all na rest. .

UESTIONS: | , .
() Wilte down tha rhyms scheme of the slanze,

iy

{
(i
v

Q4a

b. . Ghange the undorlined Varbs of the

(U

(i)
B R L p——
() Whenyau

L\
[ —L) gince morming.

(vi) We__——

e

[+ %]

as

coat

Whatwas the angle wriling? .
Glve the meanings of the underlined wards.(Any two)

-How did the angle come again? i . o
Why was Ben gdhem’s name ofn the top of the list? g
FillIn tho blanks using the passive volcs form of tha verbs glven In brackets to.

cnml_:lm the passage. .
Flrst of all, water I8 " (take) In apananditis {bol
fuffiness. Than beiling waler ls _ ——

and coffes are __ (peat) In the cup bY hand for
| [make) as per taquirement. The coffea

(pour) In the slurry and adjustabie changes 86 _——
(serve) and___(enloy}

) on medium flame. Then sugar

Is then ——

fullo:nlnn sentencas 28 dlrmau‘ In the brackets.

(any five) B i
He ‘hera yestarday. (come)

It ha wiorks hard, he \he competitian, (win)
| shall be avallable. (want)
___lpmorrow? (g0) :

She . (not prepare) for the party yet.

- (be}fond of raveling In summer vacation.

punctuste the following parafline(6): : _
| abu bakr Siddique (#¥) migrated from

" The rasacl {&x;:.é‘\?ﬁ:and'ﬁls closs companion hazra
makkah to madinah in the yaar 622 ad.

nd thanking him [ her-for a gft en your birthday.
© ' OR ; i
Princlpal for a characler _ciaruﬂ:ate'.

\Wiite an emél to your. e

Wiits an application to the
ny ONE of the following:

L] e

Writs a paragraph of about 80 to 100 wards on &
* “impontance of Fashion’ N :

orR .

 ylsit lo an Induslrial Exhibltion®

Translate thé following pasﬂ,ﬁm Into Urdu:

Ndwe:h:ﬁifon upts migela feyal Is fras of cast sa the children of the poor will ba able to gal the
zed all echools and calleges. All the citizens of

education. Governmant of Fakizien hes nationak
Ihamuqlrrhaveeqmmghts and goven will ward scholarships 1o inteligent Thay
will be able to get higher edugstion. W shall make Paklstan strong and make efforts for iis

 developmant, -

Write a duugw_bet\:heen a student and a teacher about SLO based examination.
saamoi—

Page 2 of 2 (English}
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ISLAM IYAT COMPU LSO RY SSC-I

!

Total Marks Sections B, C ang D

Answer lho qusatlms given In tha 'sectlans B, C an

u D an the aoplrmly pmvldncfmnt

usnrdlng Io Instr —
s.scﬂw B (Mafhs fog('{ ....4’; ;
Q.2. Wita short answers ta any FIVE of the fellowing qus ding to eyllabus: (S:zm]
(5x2=10) - S L i Ay

The famous arab post Farzadag wrole {he Qaslda In the
() honour of Hazrat Imam Zain ul Abidin. Write its transiation
or meaning.
(i} Briefly explain, what s called Sahifa Sadi qah?

an - Wrile a shert nots on the life end characler of Hazrai Shifa

s g..:uv.rmww.-ﬂ..jn}ﬂw?

, o 0
..;/;:u.,-"afrwf.{.mg 0l

Fip hef S itep [II‘Ig

Bint Abduliah.
() Whatare the effects dl‘ physical @exerclsa on our hadg? Wite il el “"5'3{"']"’ -
any four palnts, el

: o3 B ol e S
b iEyg b ()
_yf’rtf:'.aUm’nJErukgeulw ()

(v) Whowas Hazral Uma Sulaim? Glve a brief Intmdur.nm
. Wirlte any twa sawm of Hazrat Khawaja Nizam ud [:hn
rO o (434),
Wrile the names of two famous werks (beaks) of Allama lbn.

G epaidun ).
. . A
" SECTION - € (Marks 16)(fy =

(2x831§)

Note: Attempt any TWO questlons. All quostions carry egqual marks:
Q.3 Wrlte the banefits and frulls o‘f prayer In the light of Quran and’ ‘Sunnah.
Q.4 Explain the ing of Also give ex of generosity and self-sacrifice from the

Messengor (i) (cPe) of Allah (Z88).
Q.6 Explainin dalall. the types and affact olmommassm

i Cihrpgiratracdl 4

(2x8 =18) ,
< g m : C R AR ) - e i
|
\arisie) 4,;f.-_u»=..|...gr,cmv.mr‘rﬁu VP rtrg Ehpe e 40 oy
Y AR VN TR )
sEtm‘ON-D Marks 14 e’ ) .
Q.6 Read the following Quranic vnrses wIIh their Irannl:ilom and answer the qunsllons appended bn any : i
threa of these: (3x3=9) | - ;
Jaqmz.u.—.{.e.amzda.afmwwmww e '

(3x3=8) -
: @kl 5y R Y B GR SE G O
e iy F L ;u#lwgr,ré:_u»).,z:.m '

i “So 1|-|g angles proslrarau themaelves, all of Ihem sxcept blls, he was pmud and was ona of the disbellavers.
" a,. Whaldid the angles do on Allah's command? 101) )’ CWWLuBF Lkl

b Whydid lbils disabey Alah's order? (o) vJu!Jt):Jr‘cue,mJ_ué. o8
Whal bacama of Iblia? : (01) ‘ A - b
ol GISE LT AT GRS S ORI S S Gl G @

e ﬁu’w.ffu—-‘fﬂllﬂul’fuingﬂm{rﬁ; a1l cdw,wz,mw..g.,q.; Lo .,k’g,@{d._r;,_#,,i .

And of mankind Is he who purchases idla talks to misfead from Ihe path of Aligh m)wlthwl knowledge and takes.
[t {the verasa of Quran) by way of mackery. For such thara will be 8 hLml}aI'Inq torment,

a.  Explain the meaning of l.}il,uh)_i,l () -wEfE'-‘rn"f w4 57 il
b, Whatls meantby SMesoR 0447 S tesrle ﬂﬂﬁ:' ‘&'ﬂ A
W’h A cF
e i . i m;;l:t?:e:r;a!ateor Ihosa who make fun of o). . R LIS ATS GRS &

Page 1 of 2 (lamiyal),
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mmﬂvm G AN .

(i)
;e,mn&f B L2 et I i 2L (D SIS e ;
) And when it s sald lo them, Weﬂd of that with which Allah (£ has provided you, those wha dis baliave say
10 thosa whom belleve, shall we fead U‘mowhom If Allzh ([ willed, he muld hevated .
U Whatls meantby.  AYTHL? o) ree AABTEE
-, What stubl g
b, dﬁ!mhed:mmm olldlalbellwers is S~ ! 'f—i"'Jew;a-flfJuw -
* Whatldid the bell : . e : _
# rlahunmrs bl:n:m;w i e’ (01) 2L/ s find o - .5
b,y GEEPET st B I b s i e )
+r-nM-?L1J:.J£Tﬂ.C{_.TW% SNLIAL o f el aAlre
° M"‘"“"‘“ e afreid of Jour ford and ear the day when no faiher can avall any favor for his son nor a of
‘ avail afly favor for his father, No doubl, Ihe promisa of Allah ({FD1s frus.
a.  Whalls meantby gﬁéﬁﬂ,&hﬁ 7. o) e f‘ﬂglﬂ* MM -
What two thin ncauraged for all b oop
. B beingsto m.-:s ahe ) raged forall AumEn — rgq) . tedhd Al ez Sk -
.6 Whatls meantby Alleh’s m) promise? 01) s S eeml P
o b S A N A B S 3 g e BB ES o w

-wJltnﬁ-Wu.ﬁ’Mﬂ-u-hLc.FIrf.}'f.;ﬂa).,.Tﬁ.gan(d:K-LuLl)fMaﬂuTh)-{.s—:Z-u-'-r-wa-wu?ﬂm-rTh’
Truly, you are ane of Iha Messengers on thd siralght path. (This Quran) sent down by the Almighty, The'
 most merciful, [n order that you may warm peopla whose farefathers wers nol warned, 50 they are heedless.

What glory of Hazrat Muharm-nad (278} (cfipe) o) .

has been mentoned? ¥

Which two eliributes of Alish (£85) arm o1 £ t{.fn‘.sbuuf»fl]lu';‘a-!fm
. méntioned in lhese verses?

What Is thé wisdom of the revalatjen of the Huly - ef.aqw,.ﬂr&.fdaz.wu

Quran?

these:

s - o ..;fa.;uzauw!.f.wm.m&ﬂfmnwu At

g.-,wﬁrw./.!tﬁfsl&ﬂ'.,! )

Read the fellowing Ahmillh with malr translations and anamrllla questions appended to any ane ?TS‘_I

,,,L-g,sm,w'u,. ,qrbimd.-,éwi o

..u,a‘«’,ﬁusw-ﬂ MN*MMPKFNWHIW\N&«CWW
The most pan‘ec& believer ameng 1m beflevers (s the énawho Is the best In hls conduet and tha besl of them
; thosuwho are best o thalr wives,

" 4 wnatls themeantby ;9;_@)5&[9,-? " (o)

reave bl abils

b, Whols the most perfect bellever? wy - el AN

Relate {his blessad Hadith o our practicel ife. (01} B e el Gt e

..;,ﬂlﬂysuﬂJﬁ;gM%s‘f-s-sﬁbJ}’-ﬂ . )smshsmau&a;zmg ®

t&i}ﬂl-fgfnﬁ)ﬁ)h{u{.\hm!fuf (A Lai et Lundhi AL B fe 2

'rhe mussengw oM{Iah m] sald about the major sins: Associaling partners with ARah (2} and disobeying
parents and kifllng and telling llgs.

I,’- a}uanmamummgmgﬁﬁﬂ)llj#. (1)

e NN

b.  Whatare iha major sins? Lo | teeulVey -

“e.. Relato this blegsad Hacith to our practieal ife,  (01)

= SAN 23S M — ' Wil e oRE
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PHYSICS SSC-I
SECTION - A (Marks 12)
Time allowed; 15 Minutes e
of i
.:;';:".:.*.:::::'.':::;"m.,.,t, :
handad over lo the ﬁl;:'i: ::r::'mundm
o Dnn;gnmo‘pm %

©®ceec0oeo [
5 200000006
©©00 0000066
©ee0e00oe0806
©e00e®o©e600
©Peceeeoe 0 e
.00 00000 066
ee0®e00000
©e 000000006 ||
000000006 ]
©eeee 060600
B

Fill the relevant bubble against each I iing to currl " ‘Candidate Sign. : l

| .cuestion Jie A B, Ji € D Ala|c|?i

- How many milimetars are tere In200cm? [260mm  [somm - soom” oooem | O . O O O
. tuLwpdZepd | 2 Kidsoo e <2000 A

—
If an chjsct is moving with constant gpaad . . ' : e
then its distance-time graph will be:

Sl 5 (81 (B gt e e A
3 F“M(Jf..fu'dﬂ.fath&ér.'u_r:::’i? j[ I E[_ 5], g[/ o) O C o
} 1 ' o

Temw | Temn | e

When a car is maving with véloclty 40ms~
slows down unlformly to 20ms™ I 4. | : 5
sacond, Then the retardation producad : e ! * : 5

s heear . B R o e A o) 0 0

|
|

Sl esbar oo ssedudine ag
SRR e Gyt 20157

. Lass B - = . te ] :
An abjactis taken fram sarthio moon shouk A | Sama Less . e
ave! " .

4 h . waight weight . lweight 3 m‘ah: I
WAL L et el i/ il i w‘?m.n m‘lﬁ.ﬂ{- O O 0 0

5, The unit of co-efficlent of friction fs:

|
-f___JMNW&,N Iks w.all'. u_ha;fhuuml O. o o0 J “

TWo masses are-separaled by a, dislanca

If both masses are doubled, the force of

Intoraction  batwesn the two masses
B changes by a factor;

—_— -

Y tmes | L
lf’ul_»dt?g.._ﬁ O O O O

2 fimas
uyazu}u!;;.\)'vﬂ.._fﬂ.;}uﬂf_ F Lt nl n |V

WPl o] . :
7, According o first condlion of equilier ____h__'___‘_ 1y
Loz = =0 = lo 6 o o Sl
"% Tha angle al which X and ¥ companelie ol || T8
& lorca are aqual is: ' ) i - . T 1
B Natmasid Vsl X Lgdd | O 300 a5 - : : 1 )

@ . 2 . Pagelof - ! ' ‘I K :.-'
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r'muwn' ihe A B, .c | D a|B|c]o]
7Asmn welghing 600 N 1akes 60 & g rench the, €
. lop of & hill 8m high. Her average muscle ; :
poworfe:  © . ) . 324w 2.8W sw 280 W :
9, +”P}‘rfl}‘w4—£ﬁ<wddmfm|fw_«mm winad | |assnd s v, | 0O 0O O O
: ‘ B '.J"' ‘“‘Mw .
Which of tha I‘o.l;owhg'h NOT used 1o . -
measure prassure Bt i
w0 s d Lot AT Pa Bar Kgm” O ) 0O O O
310 K In centigrade scalals:  © . o .
i e -M/-:mﬂff’fnrz’m e 3 63°C mec o O o O
TR : Fighly -
m:a:e:‘:ﬁ::o:w or = Biheey While | Gray Dullblagk  |polished o 1o e o)
R Al i e N e oS e ad
— SAN-2307-10T ——
ROLL NUMBER
. F;ai:l_,;”i i ox oa £ =1Ems™ " g =10msT
; ) 7
o g el Y heae o Fewo
. _[ . ks
. Ip=T-im . Pf-'f;ﬂ
. & : ——
|
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PHYSICS ssc-I_ /2

Time allowad:2:45 Hours = e Tot: Sag

LAl [IAres 5:
NOTE: Answer any elevan parts from Section 'B' md“aﬂr::'-;o. l}:';'utlans‘!mm ?ﬂeliﬂn 'c‘ foly
re naatly ani A
provided answar book. Willa ’W.. a‘num atly og :
. Co . SECTiON= . :
Q.2 Altempt any ELEVEN paris, All parts carry aqual marks. o M1x sy
{) “The halr of a trorse grow at the'rate of 0.5mm per day. Find thelr growth rale In mes, ?
: . ¥ | 2

) Underwhal condition will disph be equal to nce? . J N

iy T A Irzin starts form rest. It moves through 2km In 1008 with dniform accaleration. Whptwﬂ h_e Its speed g

the end of 10087 . .

(v} Briefly explaln the tarm 'Inerila’, . . : o
) A baody has waight 40N, How much farce Is required 1o move it with a slring Vertically upward with*

‘e 5 accelerajion of 2msd,

¥} Whyls a vehicle made haavy at tha batlem?, iis helght Is also kept as low as possibla, Explain briefly,
(vil} A ferce of 200N makes an anpl- of 60° with *-axls. Resclve II:Ia force Inta rectangular camponents,
(vil)  Caleulate the masa of earth using law of gravitation, (Dlagram is nat ragulred) :

b0 Calculata the anergy rplaasér.l It bwa Kllogram ntuan!umlalcmplelaly cgmverted into energy.

{x) + Wiite a short nate on green house efect, i "

() Winatis meant'by elastilly? Alsa compare strees and sirain,

O} VUhatis pawer? Wilte its formula and S unit r

(i) Why zre smalf gaps Ik when tha sleel girders ara Ingtalreti Iri walls?

{%lv} - Evaporation causes codling. Explain briafy with nn.n examrlle‘

(). Icertain piaces, birds can fy far hours without fiapging thelr wings. Explain briefy.
1 2 .
- : " = i %
Nota: Allempt any TWO Quations, All questlons carry equal marks. * (2x10= 20}
Q.3 a Explain different types of motion and giva an'example of each,
B A bulletof mass.40g moving with velocy of 20ms" panetates bup g $20d biag and s brought o rest in
0.15. Find (a) the deplh of penetration In mettis. (o) The averaga retardation force exertad by sand bag
. In newton, i '.'A'” : ¥ )
Q4 2 Whalismeant by resoliion of force? How c2n a frce resaived [nts ract qular ¢ ? Explaln
with exampla, oo : i S “
b. " Derive the formua for the arbital speed of an ariificil satellite,
Q5 a  Saleand axplain Archimedes principla,
b, Make te following conversian’ - )
) 0°¢ o Kelvin A 13 (g Keluin ;
(Il 0K 12 Celsius L () 100°F 1o Celsius
. — 18RI 2307

., v,.'-q-{-nr

. .'.'-rrn-%m‘l PR e
o F=Feesy »  F=Fiag i Pal
. gl + Rl G g
o E=pgl L ¢ w;v‘l—v‘
;
. ,
S
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9000 0000000
. .0000 0000000
CHEMISTRY SSC-I ®006e .00 2@ 0 0@
SECTION - A (Marks 12§ ° 3
=l Wl 14] 0000 ©P0@0 000
Boction = Al compuldory, A part of this Q006 0O OO
BT 600000
S ©006 ® @000
| YL el 000 @@@@,@@@
J“&'-'ﬁJdr\fi T 2000 . 00 @ Q@ 0 0
ZZPHOTGN - ROl ) G006 Q@0
©0 006 @0 00006 e@
) e ) Anawersr-lént No. _ .
Sk » LT r.w:d-r; Invigilator Sign. :
Flil tha relsvant bubbls agalnst each g g to curreulur Candidate Sign.
[ | queston e - B [ D Aalelc]|o|
* This alomic mass number of en :Emwllls ' !
350 ha:"l? protons In ils nu'e:lu,h\:\ht ! .
mb;;? rl__wﬂr‘ - 1 1] 20 o 0 O O
Lt g WA REIL s D i
' © WFaA i
Acalc 503 18 @ coldess Taud vih a|
'&mﬁﬁigwrl:n 'm:'e:‘l?:lgrﬂ!-' nlc .- |Blo el [Analytizal h '
1 .'maw?swa;xm;w Chamisiy  |Chemtry *|[Chomisiy |Chermsty 00 0o
s MMJJ—‘?M{-&JA;—JM hend et g vy 7
Lt LS P BB LS N2 S B e
- Tretergn]
Find out the position.af Cl In the perodic| - 4 = - 7
lable by considering iy electonic) . v
confguration: .o 5 7 .
Ca o WaraRy - G (G faams fomss O O O O
: Pedodiz W Saion s, F1 L 2B A |tngf0ks  |2epudiabs  [Togefiats  [tadiials )
ik atfpPeaglninee] i E .
i+ Inthe falkovdng reacion Idandly viaihet "0 Neihar
 has boen oxldlzed of reduced? ~ |Firel oxicized |orlslzed nor :
y 264,40, 21,0 Oddized . [Reduced |lhen reduced fradusad O 0 0O 0O
T e T L O R :
i | teirlRedughriide ghrus i el fhe
© Which cne of the fclowing i used lo T E
esimale the age of card ining| -
mmrn a procass Pu‘eﬂ carbon -. ; .
Gwygwayc&m’@’mﬁ‘éh 12 o CACR (1 O 0 0 0
ek LLGb A . y
Melallie alamenis In tho g:wp 1A graf| : Tranllion s Alkalinu warth
cafled: © | Noble molels |melala Alkall Melals |molals ’
T N P O T v i [0 O O O
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O VORI |

| [ ouessen - .b“ A ‘a -€ D . TT3

Which ane of the following is the corre: - B [
[ enling oxidizing power of . ot ME )
m““"?ﬂ J . B> Ch>EARSCh> 8, | Ch<R<by (O, <By<F; 0 0
Lo Lfsvdatrfipbidledtta) i : ]
" : C leaese : 3
. Liquid in . o i s

Brine Is an example of which solulion?  [liuid Solid In Liguid |Liquid in Solid| Seifd In Salld

eI LA ket vAs bt vier . O o ;

Mﬂunn of tha fellawing elemants belongs .
s BaowpiAr . u Be

L3 c :
LT SPWSTRN FI0 AAY © 0,
Which one af the feflowing elements is NOT . . S
aNohrematar? ; Plalinum si\fur . . |Palladium Gold J ;
: oy e, T ., r{..:waﬁu.ff_.,z.ah. s - o fewr O g J

The Sl unil otpmuma s Pascal (Pa) bul it
k.mosll,r represanted in atm.f elm=____

Mwmm+m&;amu.:;1 101,325 Pa (101,325 kP 101325 kea | La1sasvivips 00

tewlvineny|
Choose Ihe chemlcal spscie from tha ¥ % L
thmmmumnnmmnm
givan below: F §
1= o oo e 54 0 0
AP SN e it
&
=184 2008104 —
SUFPLEM!N'rwrnu_ |
Aomicha ™ [ 1 [ 3113 (REHE T a-‘l? = ’IL. - B 2 !
= 2 A i ' 12 2 .
mhu_l '1( He [U[fef g L B T B P e Mg ﬂ ";'F 1ps ]_{ ‘ll: ﬁ q
41208 Iz e 6] o H01% " 2 s 5] s 55 | an; .:'E

| ]

e

[D] | ':. ' . I-ng§2nr: '..- 3 . '-.' . .‘ |
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Tlma allowad: 2:40 Hours o4

NOTE: Anewor any eleven parta from Section ‘B’ and any two

O.! Mlarnplany ELEVEN parts, AII arté darry equal marke. .

pro\ddad answerbook. Wrlte your answars naatly and laglbly.

! SECT|ON - ByMarks 33}

(11x3=33)

‘Differentiete between a compound and a mixture. Glve mlrnplaa of sach.

[0}
] Chlorlna hak two [aalopes (C1-35 and Cf-37 ). Draw Ihe complete lwmru of each Isolope showing
Ihe numbar of pmtms neutrons and eleclrons.
“m EI‘TCH)' '”b[ﬂ tad jed and p brabad el
() Diffel batw Idalion and reducli :Gwe allsast thee cumpar[san poinis for esch.}
)" Whatwil ba the molarly ni the following sofutions having: o=
(a) 1 male of H,50, psr dm’ {b) 12.1 rrmhes of HO! par dm’ {c) 18 molss of NeOH per dm®
{v) . Willa the valence shell electronls configuration of the foliowl t
Co@ Ne .. 0 @ N
+ (v} Choose the slement whose atems have uraater janizatlon energy In each of lhe lnlluwlng pairs:
. (s) - UorNe b) -BorC (o) = FerCl :
(vil) . State Charles's law, Derlve ils mathemalical axprcsslm .
(k) * - Briafy explain lhe chemical bonding In malhane { c.qr ). Nsn draw olegtron dot and cross structura for
mzlhaﬂa 7 : £
) Is the glven reac!lon pussihle? Jusllff lhs answer as wells
Foag + MeBry, "Wﬂm "‘Eﬁm n .
(xl) - Idenlify the oxidizing and nadudng agenis In the valrnwlqg reaction. Also shaw oxldation number of each
. 8tom. G 435,—.!?’”.‘!0
(xily Whats corrasion? Enlist the methuds used 1o pm\mntcurmslon )
‘(i)  Useelectron dot and crogs, B umeum gualon for the fermatien of lonle bond betwean
" Mg and O, -
(xiv}  Ineachoflhe Inll'wrng palru :huun which oxlde is more baslc? lee reason.
(a8 LhQor Ne,O (k) Mg0' or A0, :
{(n)  Find the numbier of valence eleclrons In the of following groups:
@ A ) WA [, VA '
E ‘SECTION = € (Marks 20}
Note: pt any TWO quostions. All questlons carry equal marks, (2% 10= 20)
Q3 a What are allnhapes? Discuss the allolroplc forms of Garbon and Phosghorus. Draw thelr siructures also.
b. Calculate the number of alomsimoleculas prasentin each of the following samples:
0] 2.5 moles of éarbon dioxide (CO,) ()  0.01 moles of acetic acld (CH,CO0H)
(liiy 23901' sodium (M) - ~ {iv} S5gofhydrogen (H) atoms
Q4 a Explain the Rutherford's madal for the atomie structire. Discuss only tha experiment ‘and conclusions.
' b. . Reprosent tha formaticn of cations for tha foliawing melals along with distussing the change In
eléctronic configuration In them alter farming cations. () Mg {ly Al
Qs a Dlscuss the manufacturing of sodium metzl frem fused sodium chloride in Down's cell. Show reaclions
’ occurring al elecirodes and draw diagram also.
b, The Chemistry saylng Wixa dissolves lke" |s a guiding ru]e when cnnslderlng ihe solubility of a substance,
. Diecuss the” basis of solubili y of methanal (CH,0H) and salt (MaCl) In water, Also draw
dlagrame. ’ ' ' - .
. —1SA 2308—
RY TABLE g
T3|afs s e[eJw[uluayojulis[i|[wwE[lE]w0
He|u|Be|B|e|wjo|F M (Mg |a|si|le|ls|al|lmlkla
gt o m | aafoe ool 2e a2 |3 o ass|aw|w]|a
M =M

. s .
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BIOLOGY SSC-| e0e@0® -00000G0g
SECTION - A(Mal"'l'!s 12) @' 0 0 @00 00 @.
Time allowed: 18 Minutes S A
Sulhn M'o::ul||u|lm;i..lnllplllﬂ.md'lz,l:‘I A @ @ @ @__ E @ @ @ @ @ @ @
Nnisdowaincais e, @ 00 20 ©®0 00 06
g .
ot v ad el 0 06 ©.©® 0 ® 0 © @
WSt L E N Pl il : : 3 ® ‘
q-t-*&-aﬁﬁl.—'-pdﬂqff- 0006 a 0000000
Pe®E ©@O@O@0 00O
0000 ©00000O0
Ana\m;rsmamo. .
g Igllator Sign. =S '[ . :
Fill the relevant bubble agalnst each question aceording to eurrlculum:  Candldate Sign. ________ 1
| _T auesten . e &5l R, ¢ D aiu_.lzm
'I'hecareermustsmdaledﬂhlha sludy of| 3 T . 2
Plants grown far b 14 Agricul f Bnunr * |Forestry Honicliure ! |
"_ .ﬁd!cg&k&;ﬁ»{ub".ﬂifﬂ.—f}y@. e A A".u! O O O O |
Mahsen has leamed thal tha hrain. splnal ; . i
cord and penpheral nervag wrk logether,| An argan’ -
3, " She combined all parls 1o form: Acell A llssue An organ sysl ol o O O |
ww!—-’rr-'b-:-wmw:b»!r-hﬂ.as A uﬁf.q LN O . 0
N U Vi : | ' ; P
:a\::[sparl ofan :xﬂarmnlmalmlha dala N L - F = ool
3. lables and graphs? Analysls Conclusion . |Hypolhesis  |Resuil . =
AN, R T Y M 00 0o
Showi
A good classifeation s)’:llm doas all of Ihe |Showing avell.lllr:\aq Creatirg * r'f:;:?:ran
s = ge foliowing EXCEAT: |ralatianstyip  |trands fluslon lsm -, o - -
'.‘»/.,u:..sm.u.-(‘f vonfilpr/alond (el |otfid |0l Lan g © 0 o
; e kS ;
Ra'umunufEre:Lmn Mlunampe can ba| -, \
. Uple: . ; ) :
5 it dak 02um” | 0.2en . 0.2 0.2rm|n 9] o o )
\-m:'-;h s s e ole ol proley x —
6. &ynihe . Lysosome drl R 5 O
'%WJJMU“ et i o »:‘:ﬂmw o @) ®)
| Shler
7. Crossing-over occurs bstween; * . Hesame [T diarey ;leiisn! mﬂiﬂﬁ‘“ 0 0 0O ’ o
.I'.quf._'_,..«.w Lo f |andis, | wiletig (e ; |
bl ' bl
Unconlraliad ce!| divialon ls known es: Cancer Cylekinasls  |Micels” : -
& 5, |Growth
: o LY ot YR A g Vet M I Y 0 0 00
Atlvallon Acivalian -
) d\'\;};‘::;::nem I3 an enzyms when It fs m‘ﬂ; ;"mu :IhI:;:s s my . . X 1 ]
'.me,m-w'ibéx‘fﬁ' Jeufliefes wiemds, |eddindi |zl @ O O O
i ""‘-
Paga1of R
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1_| Question -> .m..l.. = 5
Vihich of thesa uses oxygen as the final| - ranspod ; | i
s Calvin cyce |chain Glycolysls Krebs cycle
- Vet SIS L T I o\ fot | ddorn |Pats | Evet
which pan of the alimentary canal ks water| :
3, Woseteay : © " |coecum  |Colon | |Rectum Vil
.. tetrerlb e S CHIFHE - otf & - S
E: ) » vile blood Plasma —
cells— ° |Redblood |waler, Platelets =
2 i e Infecion calls—blood |nutrents and |blood
12 sin_ of these assoclations [s [ncorract? |fghting dotting waslen clotting
_ tessdyrfletn| =k Lot | —Klylod, | FIed=s1t SHed=iot
: | et | vt e Ade

—18A11 2310 — -
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Time m__o_.cmn 2:45 Hours
NOTE: Answar any eleven paris from Sectlon
provided answer book. Wrlle your answers

' BIOLOGY ssc-I /8

‘B' and any two aEnaE_- from Sectlon ‘C’
neatly and -n_n_u_u__ .

)
(i)
(i)

(v)

(v)
W)

(ix)
(x)

(xiii)
cHm e L ()
()

_ A

S

15

1
T

ot

i

Qs a
! b.

. w
iy

“{x) .
(i)

Note: Attempt any TWO queatlons. All questions carry un_._-n _._,_m__xm.

Explain the mechanism of food _,a;m..nnmﬁ_.oa by the san of Pressure _u__os, ___\_mn_.._mam_._._
Describe (he prablems of Protein mamaw Em._.n_._s_moa ?m.é . |

i | SECTION - B (Marks 33) CL

Q.2 Attempt u_._w ELEVEN En.. All parts carry equal marks, i v . (Mxs “y

Héw is & Volvox colony n_nea_.__ from a Mustard Plant? -

What a a E_ua_am_% State the characteristics 2 a goad “%osmm__m. )

What m%uaamo 16 thera for two sclantlsla on %Em__a sidas of the Eq.._.n to use d single.name for 5

particular o_.mmama.‘_
Suppose a naw single ¢ célled prganism has been %Bﬁa_mu This organlsm has a nucleus, a glant

n_.__n_au_mm. and a_ao_._%%m. In what Ean&a would this prgahlsm be placed? Wilte reasons as well

What happens to an g_am_ callin Es.ﬁao:. Why n_nmm a plant cell act nﬁmazs
L i

“Function i

Complete the table: il
|
T
_
| :

Sr, [Tissue - - , K] " Location ,

1. | Cuboldal nn:._._m_Es g .
2. ' | Narvous Tissues . s .
'd. | Meristemalic Tissues
m_._m__w describe the threa phases of __.__m%:mmn.. e : ! .
on_auma %ox_amm_n in .u_ma_om:m and animal cells, : _
:m_ threa ways used E_. anzymes lo EEQ the activation m\.aas

* Discuss "Lock and Key Model" of enzyme actlon.

- Whatjs fermentation? Mention s importanca in dally lfe:
Label any six parts of the given diagram using these _mn.u__mh
waler, sugar, carbon dioxide, oxygen, ATP, ADP+P, NADPH
and NADP, .
How can _swonmai Infarclion be treated? ' 5
Why Iz Rh aganm_a___q Important in blood _aaama:% ' ' o

OQBuEm the following table; . ‘

[sr. [ ; . | Obtained from .~ - | Usad I Plantfor |

| 1... | 'carbon'dioxide . % >_anmu=m$_ through 'stomata _ Makirig food |_

.|—
|
|

(8) ——

% 2. _ Nltrogen Z R |
|3 [ Magnesium ‘ —
4. | water _ e

_ (2 x T0= 20}

i : Q.3 m.. Trace the course of blood from the right venlricle fo %E mi_._a (Draw a flow char)
__ b, Describe any two organelles that are Ezaq in animal cel[, Eh not Iri plant cell, : C

Q.4 a _.e:m._ would h :
| _ appen to a placa of steak, containing only E&m__._ as it passes through alimentary ¢anal?

b Explaln lha steps of Calvin Cycla, o '

1

|..,_m>.__._m2u|.|.
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ection = A s compulaory. All paris of .
e Al . 0006 00000600
od aver o the C upar i .
.o._._._zwﬂo{wﬁ_:eﬂ_.rem”owq_"nﬂhnn.-i ' @ @ ® @ ® @ ® ® @ @ Q
a riot use lead pancil, lis, .
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m Flll the relevant bubble against each ._u_.hmm.__o_._.nnno_.&:m to currlculum:  Candldate Sign.
__ A—D__-a__,o: Cde A B c -D A _ B _ ¢ _ c;
”_ ] M ...nu =0-thenvalue oS_ﬂ._ .
i1 o _.”__ w 1 |-18 I8 O O O O
__ ..ﬁhql.ﬂ.l.ﬁ.mﬁ.u.m.im . =04 '
. ___Ia.mmh_rm:luxmm.x Is he - B
!, - property w.r.t multiplication, .|Assaclative . |Commulativa Closure’ - [Dlslributive
.._N.. -+, writhect 4,6 e Ry =4x6e R Al e va s & 0.0 0 O
£ .a.whmiow.ﬁu.u . m i 125 3 8 O 0 O O
.a* +ab+b | the factor of: . ; . u. Y
o R a7 [ el e [0 O 0 O
! Faclors of X —1Lx—42 are: o 3 o ) (5 aien et . .
mm. ) it uut:an._m. (x=14),(x+3) ?..___T N (=190~ Jxed) - O O O O
e . a . ‘a I 1 SR :
mm. 94 —p? +un...vu . . la-b Jat+b | la=b Ja+b O O O O
HCF of x” -5x+6 m_._q.%.nu.tm_a_. 4 ] _ .
LR J.. Ay 5 =x=6mx' =5x+6 g u. . R xr =% © o0 O O
Thia solullon aet of [ +2|=~8 Is: . ‘..l : 10 lie " L=
. R e L, B L B L B I 0O 0 0O
© It (x+1,y—1)=(0,0) then A.u_&. s . 11 Sial ...: :
e (=) ﬁu:_._\l:.ua.o;? ) Hv ) D) © 0 0 O
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Question A o A B ¢ D ,
© — The value of ‘m In lhe equation) : A 178
3x-5p=-10 la: . Nk o] & ¢ :
1. ' anl s~ 2 -2 ko
S Ifm o dx=sy=-10|3 3 N O ol
The value of 'x' In given figure Is: . O
A ~— B 5 ;
_ . x=21 . L . =
m a2 1050 758 ° 96° 126 54° -|84° 0O 0o
i D C . Pos ow J . O
: S T AT A N . . .
Measure of twa sides of a irlangla are 10 , ' 1
and 14, Which can ba fs third sids? . I o
; 1. g (B 2 Luineimofsdbpmlat g 4 20 A . 2 O 0O O
» . w_h\ﬁr\\rﬂt . '
w_czn_. of _:m_._a__oizu are lhe sides of @ .. —=
ght angled Idangle? ; ! ' i
: 14. 1,23 234 34,5 456 :
£ _.—hbﬂ_hb._...u._.v_innw\h.nhhhmt v O . O O
».pn_._u%_m_ma_ having eachanglgof 90°Is | . [
45, colled: . ) Parallelogram [Reclangle  [Rhombus Trlangle 0O O
& el A 0%l o | Lwn S e Al 0.6

—1SA-ll 2309-1081 —
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L MATHEMATICS ssc- 21
", (Sclence Group) _
Time n__os_mn 2 .:.._ Hours ‘ ’ . To i :
NOTE: ”N-_“.._..%m_.n-_._e nine parts from Sectlon ‘B’ and any three quostions from Sectlon 'C' on tho separately
answer book, Write your answers neatly and loglbly, , : ' :
. 5 . . W N . P i o . )
Q.2 Attempt any z_zm parts. All parte carry equal marke. . (8x4=36)

.

..__. [N
Note: -

Q.3

Q.4

>=o_.=3 m_._v. THREE questions. All a:ai;_...m carry aqul marke

The _mzm.z ofa _um_,x /s 3m mere than Its width m_a perirazter of the park i is 160m. Find Em a_amzm_o:m of the park

by malrices.

Prove that If the square of one side of w _.._mzm_m is mn_cm_ to.the sum of E:Hmm of other two m_qmm then the

‘ 51 a.._ I . '
{0 it A= = . . i
: uumao,_._m:,.._ o
-8 Fnd () b) ° FndBA o) s (4B) equaltoB'A'?
Al _:nnl C ,
) Mz=0= then: | S
a) .. Witez In a+bl for, b),  Calculaste 7 <)  Showthat (z-3)’ Is real
. . " ' 1 i ' n '
\ e . 3 "
(W) - Simplfy |25y’ x(28)t# (16)F x(64) +—— s ' 4 S
: . . (49)3 '
() Salve i the help of foganm 257642 S S 8
_ RPN a% S Q2(v) .
(v) * Findthe _EE_: of side AD In the glven figure. If wrAC = dcm,mBC =Bem and abmlws_z “
(vi) __._ ERE.KQFH.?. and bﬁm% Prove thet LO=ONand %thgna
Vi) I x=3-E 8 thenfind. =~ -
e 1 . I : ! |
mu ._M . b) u:m ) 3._ .au._.wﬂ .
(vil)  Factorize ?éﬁéﬁ.ﬁxﬁé ~504 : © 5 &1
.ol N ]
(x)  Use factor theorem lo factorize £ +2 =526 Q.2 (vi) ‘&
(x) Find _:m _._o_u of the ao__ns__:m polynomials by division _._._o__._on_ a' +32’ +2a +3a+1 ,* @ +4a’ +4a+]
65 +9x ' 4x+6 . ' '
Xl Slmpl —_— .o
) Pl n.._.m«._,_u x'-9
(xii) _u3<m that any point on the blsector oq angla Is equidistant from Its arms.
(xIIi) : un: w..u 0 then: _smxm a lable 2 any four velues salisfylng glven equation,
.2& muqcu and nzmn_n for mw:m:mocm S_E_o: If m% Wx+5=ax-1 )

‘E@i.nh; sy 24)
(3x8=24)

ey | ' .

trlangle [s right m_._m_on_ triangle. |

‘(a)

. Prove that the line mnmam_u:n_:_zm __._m mid _uo_:_m of two m_amm of a trlangle, ls parallel to the third side and Is

mncm:oo:a:m:o:a_m:-_: Lot 2 .

A n_cm&_aaa_ has polnts %.M&EL 3_ C(-3,~7),D(5, 1352.

a) "Find the j& paints of m_umw .
b) Verlfy that figure 80 a:.:mn_ by jaining mid polnts is a nma__m_omaa “

Gilven that E\Eumna.smn =6.4cm,m<B = 90° then: ' ,

Construct the .P_En b) - Draw the angle blsectors a three angles

Verlfy thelr concurrency. Also write sleps of construclion, . o
' ¢ —15Adll 2300 — )

.
.

(¢}
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.. 000 @ ROMG)
o000 ® 0
COMPUTERSCIENCE o o@0@0@ = 0O
- SSC- @600 @
SECTION - A (Marks 12) 00 6 0 @ ®
Time allowed: 15 Minutes . ® _
-w-”_H._ﬂ”_._-ﬂ_-b_hur_wc-_..:-_“ﬁ“-u.ﬂ.o.._“____.“_n-_._“unu_—“_”_“._-n @ @ @ @ .@. b
" eringonmiiys yrosiows. © €0 @ ® ©
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PR e JER S T ® 0 @ 0 @, @.
2000 . 00
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Fill the relevant bubble agalnst each questlon according to curriculum: | Candidate Sign.:

[ | question . b | A B c-| D >_m_n.__...”_
In which generatlon of computeras were the ' . K
mlcroprocessora used for Lhe first ime? First * Second ._.za. Fourth . £ 22
Lo Wb LS| drn A 1 . O O O O
Which of the following optian _-w word is used " : !
lo "End"” the page and shifi the conlirol to the| . Paragraph. | Documenl
new (nexl) page? Secllon Break |Break Fage Break |Break g
2 P feonmol LIOWF PTG ol L wod & R of L , | Lanis Lo Lol O © O O
Sedmdd LLAF| . i . -
__ Amplificalon Is the solution of: . Crosstak  |Distorfion  [Altanuation | Timeliness - e
3 U Sa.u_an.__uas.rh_..m\ 1| oS ] o] vid ’ O O O O
Eo_.__m_.._ '
| drawing S .
Which of the following Is.full duplex|Conversalion'|through ATM |TV | Sanding data ’ 3
4. transmission mode? onmoblles  |machine : |lransmission |to printar O 0 0O 0O
el A ol e B S At Uh) [t . .
. . o " ‘ _ .
Which of the following oparating syslem Is] . .
used to conlral tha lraffic slgnals? - |Time sharing Real Tinte . [Mull-User " |Single User 3
S q.?q.&..__\c\éﬁ Bk rn\\.m}_ }\e M g 0 E%.._ . O O O O
Wihich program Is Used 1o make Backup off - Languaga S_,___i_ Operalin
: data? Wk . " |Deuica Drlver |Processor | Program mh_ma I I :
. ..m....a_f_t_\xvq\nt{.mi R _ﬂ_\x%m ag ,O,_ O O O
. Key logger software is an example o - | Virug ' |Worm _...mnw.m_q. Sliar _ _
! : _...\lr&.r_\t‘w._h_\_.wnf_qhnau\m_.ﬂ Vi . [ : A _ i ) O O O . O
Which of the following networks fa MOST . -
L sultabla for small number of uggra? ﬁwﬁ“ﬂmamﬁ hh”ﬂnxnm&. hh_ﬁﬂ“.um_:_ H‘_mwono____m:r
e Sl L ans s | Sy ki el % G
e e el PR APV Ko B Bl
i : : L 2 i 23 ; Sire S : : ;
Page 1of2 - : _ i
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U
_
_

_\ _ Questlon dr A B ¢ —_] -
Which command I8 used to limit the !_____=_¢- Dala Conditional .
Inacal? valdslon  |formatting | Functions nonsc_u O O o O
. Lt _ua_.?..._wc\c‘_hm.ht:.\.....u____:_w\.h?."_rw. BT Lmr\._rmm‘ﬁ cvm ar '
ill\l\lll
. —T
Indow o O
10. Which Inteiaca Is wn.:_ on faxiual Inpui?  |GUI CLI* Menu Driven cw_ . O O
3 LN =] “_G_:.H_ \_,_.._.___\ ' : ..||.I|l|||.l|.|l||l|
: " Pergonal
' |Local Area | Metropoliten | Wide Area Nelwork
Which type of network Is used In Cable TV? [Natwork Ares Natwork Network W\q n.“ P O O O ®)
F RSO AII TN 8] WA FRN e 7 EO L
. TI‘-IIII-III.IIIIII
: N Sor N
Wireless mouse |8 connecled with Computar wave
by_____ungulded technology. Bluetcolh  |Radlo wave |lnfra-red ”.___”.M O O o O
12, wfvﬂrhh.‘-rhuﬂ\n.l:_hcgcspg__n&cu.\ﬁ:r\_q: 24 Wik e .
n_m- :
' I._m?_;w:.:: -_
ROLL zcz_mmm_ 3 _
I
* . ' 2 L - -
.f..
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T, PSR aawin kMUl B dia any gu ﬁ:‘ﬁ—-ﬂ:. VI @swuwil w Un mng ..ﬁﬂﬁﬂn-—t

provided answar baok. Writa your answers =25 and legibly. * . _
; - . ———

by '
. . . . . i

. . $ECTION-B E_im_ 27) : .
Q.2 >=na_= any NINE u»:u All parts carry equal marks. « b Cee Bxa =3

0 ‘ust the names of any three “volallle memorles”.
(i) . What [s the word processor? EE word has _.mu_un& aﬁa ‘writer? Give Ea ammo_._m.
(i) noHEE synchronous and asynchronous _aamahmm_o:o on basis of working, ==._m _aazm_ and nxﬁauf
(iv) . Wiite the effecls of following malware: .sa::_ <_Em. muS.\ma. .
: E. Write the Uses of following icons: Recycle m_a. noau_._aa _.....3 _..o_n_m« lcon. o No2 3
) T Whatls meant by ‘Data rate" and ‘Baud rate'? Also writé sn__. E_mu_ozm:_n "
. (vil)  Why are computer .._mgoim needed? Give ﬁ__.__.mm reasons. K

. (vili)y  Diffsrantiate um_imma monima EBQ and Informatlon E_qmnw
; [

(ix) Wrlte three uses of E-commerce in daily life.

(x) Enlist any __._am authentication mathods.’

(%)  What are the &mm%mammn n“ :msu satellite as _a_amawm_g ama__:z._q ﬁmav _:a&

(xi)  Write eny three uses om vital m_m_._ ao__._ﬁu:_._m no_._._uE_m_. in xnmu_.uz_
; | (xiil)  How is fiber oE_nm 3,03 reliable than osmﬁ gulded média? Give three reasons.
._ S secriown-cmasts
Note: Attempt any TWO questions. Er questions carry wni_ marks. - ) ,p_n x 8 = 16)
Q.3 a Write short notes on any bwo GUI operating systems. . .
b.  Write four advantages of GUI operating system. - .
Q.4 a. . Howdoas modem work? mxv._m? Also draw diagram,
b. Compare analog and &.u_.-m_ signals en basis o
{i) Signal type . n__.,,_v Diagram (i}~ "Examples.and ‘(iv)  Speed
Q.5 a | Write detailed note on LAN, Yo '

Write any four characteristics of WAN.

. — 18A-1 2311 —
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Section - A is compuisory. All parts of this
section are to be answared on this paga and
nanded over lo Iha Cenus Superintendent
Deleling/overwiiling Is act sllowed. Do nol use

jerd pancil,

" Fill the relevant bubble agalnst each question:

Answer Sheet No.

® & © ® @  Sign.of Candidate

® ® ® ©@ @

@O C 0 d

® & ® @ © Sign. of Invigllator

? Qe 60

ENGLISH il suz LpcJAS? >

o = - =Sl - .\‘

COMPULSORY SSC-| /s s/ufduiss

SECTION - A (Marks 15)

Time allowed: 20 Minutes
|..h\ % \-..\éh\tmn'!..h_\ Ldirs

The train had already left. Which tense Is O Presen!

L sedin the sentence?

. Present Past
perfect O Fastperect O continuous O continuous

Napolean's ammy was fnally defleated at . P o

2. waterico. The undarined word in an (O) Common noun () Abstract noun O rioun (O Proper noun
example of. .
| am looking for somaone can
wetch my dog while | am on vacalions.

3. Cchoose the besl answer-to complete the O Who O That o Which O Vinat
sentence.
Choose the best answer. | am lired, | Have been Will be

% forthree hours. O S nd O sludying O studying C) St stucy

His body was shaldng with fury. Write the
5. antonym of the underined word: QO Rege - O Eatnquake () Calmness (O Fear
The cost of living haa incressad so mushthal _ o woe within Uve a s of
6 he finds It difficull to maka bgth ends meet. O within ) Buyfood () Spend monay e 8 e
Meaning of the undelined idiom is: SRS O Wury
He is & chlcken and cannot faze a diificulty.
7. In this sentancs ‘chicken’ fefers (o O An Innocent O A cowardly o A harmlass O A foolish
person,
. Which one of the modal verbs used in the 0 My sister can o She can play 0 H“”_._J_%q Hw_ﬁ%wg_.__n
B gven senlences shows the -function of speak three the fiute and
ikelthaod? fanguages the guitar kumw wnaa O H ,wm_mmu by
H
g He'hgood QA O With O on

tha blank wilh suitable praposillon. -

Mathematiea. Fil In O In
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p the blanks to complete 8 crima slory.

Q.4 a. FIII
given In brackets. o o)
Potos were___ (20 1018 o (hurt). But one

Ona bllion rupses wore (stmal). No cuptomer was

Ica.
robber was (shat) !:p' !halpnl .
b. Usa the Verba given In the prackets as present mll‘pul participlos. (any five}

n Wwemelagid a basket of flowers, (camy)
() Books |n the chlidhood seem fike old friends, (read)
(i) | heard my mother on the phana. (tatk)

{iv) We stood for the txl. (waft)
() Having mrpasswnlappllodmumm[ma}
{v)  Sho hurt her log while tha rope. (skip)

(vl) Theletter was badly . (write)

¢ Punctuats the following paralline(s)
immminmmmhmdmmmcmm guys In schools on TV

don even know the people In thelr own class

SECTION=
Q.5 Write an email to an American friend {elling himMer about attractive tourist dutlnnﬂqns In
Pakistan briefly. :
OR -

Wilte an application to the Ffrlndpal requesting himher to hold a ‘funfair’ In your school,
Q.8 Wrlte s paragraph of about B0 to 100 words on any ONE of the followlng:
Kindness '
OR
Examinations
Q7  Translate the following p

ge Into Urdu; -

Nise pollution causes not only environmental damage bus it also has negative impact on human '

health. It can cause aggression, hypertension, high siress levels, hearing loss, restiassness,
depression and insamnla. Insomnia can further lead to anxiety, bad temper and emetional strass,
In addition, noise pollution can sericusly affact the leamers, it gives them unnecessary mental

and physical tension.

Wite a diak b o+

1 p ——
Usa the pglm volce form of the verba
fog)

{0y}

(03)

(08)

(05

(06)

Varzlan No,
1 E‘o L NUMBER E

@ . @ L6 G) & -
: Peoeeeo
2@ 000200
000 0000000 *
g ®'e.@ 0000006 2022
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¢ e aa ©®0 600 e
2000 0000 0 0
®0 @0 ®0 0006 S
€00 oo0o0se0od
Section — A I8 compulsory. Al pams of pis
-:mu::h- n:--nmu.w“ I'u“U‘!‘ ol 33)) Lir S pftf g in ssa Lang s =
Do o s v B e (15 s ) 0 e e
20:4 5
Fill the relavant bubbls algutn.g each queston: L ifisvzrnbsmrn Ehrs
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Vi ec Lt Loy e b fers = v Bogf ¥ vfs () Celeuhia e rumber of saoongg iy g g Eisibani
tiia GM, il ") I (i#) SKoteh the lstance Ume e PI233 e number In standard farm
' [ U ed a2 e given States.
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_— 0 o 0 Sk b When e cbjectis g oy
¢ ~ ATE Watt 576 Warr 676 Wati T46 Ware " A erisket ball Is hit
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(xl)  Atwhat lemperaiure the readfings on Fehrenheit and Celshre seaios arn equal?
(xfl)  Give reasons:
a Whoy wet ciothes dry Up more quickly (7 summer than @ winter?
f b Why water evaparates faster when spread over Lamer area?
{xiv)  How can submarines travel over 2s wel as under tha water?
(xv)  Defina thermal conducinily of a soiid mataria). Wha! is its Slurit?
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Attompt any TWO questions, All questions Gy equal marks.

I solids, transior of heat takes place
by O Conducton O Convocit O Aadlat o nlien
dafleg s RV A ofiag

18 Z2ATSO7T (HA)—

{2 x 10 20)

. S=Fr+iar
! Note:
RS Q.3 a.  Derva an equation of mellon which sincependent of time.
r b. Two bodies of masses Ekg and Skg are aftached 1o the ends of sing suspended from a
GM, frictiontass pulley. Find acceleration of bedica 2nd te tension of the string
i & =_JZ}_ c.4 o Whal is work? Write ks mathematical famn aiong with ks unit. Explain Ihe cases wher:
(] Woark dohe is maxmum
: fareng 0] Wovk don is zer0
! . F =Fsin® b, A satalile |s revolving arund the eanh alan attluda of 3509Ckm Calculate is crbital speed
1 ’ as a Stala "Paseal’s Law’. Expialn workdng of hydraulic press and broking system In vehicle as an
J appication of Pascal's Law.
has 2.5 lies ol waler at20'c . How much heatis required o bor the water?
! R
| v S=Vr+lgt! . miEmly =mytmy, - Te=18T432
| gk . IF=0 - Q=cmaT !
Er=0

- 81"(Kr+mz

= m g ‘GM=
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wﬂ:m:mmhﬂmm"' e o owe . O e O e | mimeallowad: 2:40 Hours - : 53
waler sl Murrea wil be: iy = feroo NOTE: MaT;r;uy olsven party from Soction '8 ang Total Marka Sectlons :nnd (:';m’r
Tgf ectmbeln _— providod anawer book. y "9 &ny two questions from Secton 'C’ on the sepd
Y N % | | neatly and leglbly, 19 SUpplemantary anywer ﬂlll?l.l. snm:g i required. Write your answers
" "
asing by ot 3 I --""'-'___"_"""—'—-—-.__.________
Incransing D {empurature presaurg
saute o gas canstanl, prsy. () " SECTION ~ B (Mars 33)
f:.'m m’:enm e ?vf m:::l: 0 <L (£ sl =0 I I Q.2 ANemptany ELEVEN parte. Al pany CRITY #9u81 marks, (11x3=33)
R st e A 5 Y Ol 0] Differentiate betwean molecular lon ang free 1203 wilh exampres
_’_’_,’————4—’_’_ () Wnatis meant by; L Ak S
) MaE b Ammicrumber ¢ Alomic mass unit
Percentage Solublity | Draw Bohr:
Masal CERRC ?ﬂnﬂ-ummm Q G ) ﬁn I ¢ R O Jar | = e s mdolor 3 ang #Hs . Indicaing loeation of electrons, protans and neutrons.
100 g ef soluton i ? " r = The etomic mass copper,
0 O e e~ HF i = [ = (cuso) OfCoppesmetal s B3.5 amu. Caicutte the mass of 3.5 moles of copper suiphate.
O I v) Wirite the electronic confquration of
The exidation stata of in NIn NH, 18 ok 0 2 o - [ I' (vi)  Wnatis meant by comosion? Wrie the
1w Teudk TN NH, |I (vi]  State the substances which are beng
| Wy +3H, 2NN,
“Joenty the branch of chemistry which " Orgenks Analytical Mg +H\O0— M504 4
mﬁmofw"“‘“‘“ o m 0 m:" 0] W ®) Tm i | Fn,a,+]:ca-.zﬁ.;cq
Boel) s ol e : _
P e Ll et P f | (i) How can the lecation o an element 2 ba dentfed on perindic tabe by it lscronic confiquration?
(i) Platinum s an inert metat Dbmshsmmmmimpm,
| | () Explain the ©omposkian of ‘Aqua Regia'. How It Is uses to dissalve the noble metals
e | | [ (xi)  Show the ‘Uﬂ‘ﬂﬂhﬂ‘n of cations from he following metals, using etectran dot eross structures
: [ & Be {atomic number4) b 41 {atomic number=13)
| (xi) - What are aliobopes? Explain the ellotmpes of phosphorus.
(i} MgSO, is used In medicines. How can 0.5 M S00cn” Solution ¢f afeSo, be prepared from a 2.5 M stock
T IR EIERED |
ale 5'1: ok ) e | solution of Mpso,?
MEYED s @ l 3 J w ] | {xiv)  State Octet and Duplet rules with one oxampls each,
1 (xv)  Dry cells are used to power wall dock. Describe how a dry call produces electrical energy. Explain
[ with the reactons at anode and cathode,
| I s = C (Marks 20
Note: Atternpt any TWO Questions. All questions earry equal marks. (2x10=20)
] eq
I Q3 a SEhChade'sLm.mnmmiagnsismdasarefrgm' nt Calculata the initlal valuma of
r | WH, 383 8t 0°C that is changed to T3ien’ by cooling ff 10 -14°C at canstant pressure. (05)
| b. What are Isclapes? State thelmportance and uses of Isctopes in daily Iife. (1+4=5)
| ] I Q.4 a Explein electron affinity and elee qabivily alangwith thelr rends in periodic Lable, (08)
b. How covalent bond i formed? Descrbe single. doubie and trple covalent bond formaticn
|
r. ] betwean two non-metallic atoma wih the help of structures {143=4)
. ' | Q.6 a What s Molarity? Il §0g of a chemical, having mo'ecular formula CONH, is dissolved in 250em?
| ' I af salulion. Caleulale the molarily of this salution, (1+4=5)
| b.  Coppermetal ablained from its ores is impura, Explaln electrolytic refining of capper,
I l Skelch the call showing anode calhode and Now of electrans (05)
! | — 158 2208—
l SUPPLEMENTARY TABLE
I AMm:No|1)4::1:9mn|1u|-uu|:|lnmq
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6o o cxampley of excy. ? WWWMWmmmmmmmw

Deserbe blood dixorder tatagpamy

Differertate betwegs fats and cpy A0 vriem ooy of
Jo-C
Vinle couses ang alfpcts of deforeyiatnn =

Describe stucture and I'ummafn_hm
T heip of Rbelled clagram,

Dmmmmghwm.

(") Whalis 3papicsia? Descring FIocess win twa ezamgles

) Descnibe the effect of pH gn

(<) Ern!lFlsd'.IlDIupMaM:Iulumm_wmﬁgmmmmlmndm‘m“

help of diagram.

()  Descibe cbservations eotecteg during study of matang

“ (xil)
(xdv)

Which environmenttal hazards are Caused by Me use of fertizers?
Transpiraton Is a recessary evit Dizscuss iy .

() Wy blood group "0 i called unwversal deror and blood greup RE' universal reopient?

Hole:
Q.3

a4

Q.5

EECTIDN-C farky 20)

A any TWO questions, Al| carry squal mark (4100

2. Heart act as a double cump fof cireutation of biosd, discuss it Also draw flow chart for Couble

pump of Bloed elrculaton
b.  Which type of celiular ¢ are resp for i is. Describe il with the heip of
labelled diagram.
i Descrive structure and functon of stamacn with the haip of taballed diagram.
b. Dlscuss charesteristics of Kingdom fungl and Manera

a Describe events of ight reactions.
by Describe prophase-! with the help of dicgrem.

—15Ad 2210 (HA) —
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If medians of a tiangle are equal in ; )‘1
o length, than the iriangle is: O Ewisterd  Scaiens fsoscaies i N THEMATICS SsC-1 19
W studunsesdi LoaLan i Lwagas tou Y Q' s Pinas e ™ I 2:40 Ho (Sclence Group) =
Time allowed: 2: urs 3
- iTone inferior angle of 3 == ] [ NOTE: Answer any nine parts from Section 5" Total Marks Sections B and C: 60
parallelogram is 60° , then iis providad answer book. Uss supphmenh.nd any three questlons from Sectlon ‘C’ on the separately
10, ©pposie interior angle fa: O - m - o noatly and legibly. Logbook and graph p.g "m shest L.e. Sheet-B If required. Write your answers
e 60 i n L RSP i 0] Q 1w C w0 = P ; provided on demand,
T it ' SECTION - B {Marks 35)
In a parallelogram ABCD, il m<5 s [ | @2 Attemptany NINE parts. All parts Carry equal marks, (9x4=36)
obtusa then the longest segment 1s: < | Find th - .
D g @ ind the values of = andy if _;['“ ]H[- 2] M0 2
C - | L= 272 -12 |
5 s i): Sim L] :
_ : plify the expression —— i
1 i O o = & 2 o [ ] ” U] 777 2nd write the answer in the form a-+ b1
wePn e S i g AL A o o @  Simplfy (%}[;,- ;_‘_"]
Pl
o 5 (v)  Find xif log,(¥'~2)=2
What is the length of the side of a [+ ] S 1 |
Square, 1 s diagonal s {3 long? " (v)  If x=2-+3, find the values of re-and x--
LN — = = (i)  Factorize: 1-5* -y +2xp
= = . A - ] (vil)  Find the square root of 9x* - 242 ~14e" + 40z +25
" 4 . O = QO : O 4 O s 12 ] : (viil)  Solve the inequallty f+?z%—%m+u where reW
x
e fBem JUnL 0 .
& lem Sl i 28, [ <] & 9  Soive: [P+ _%
What Is the salution set of 2 o {x) Draw the graph of y+ax+2=0 by laking at least fau_r ordered palrs,
. l+7eT=0? [ ] {x)  Using distance formula, show thet points 4(12.8),5(-2,6) and C(6.0) farm a right trangle.
f tevertrirs Ao Tt cn O 1 O {1} O (014 O (4-4 o | () Any point nside an angle, equidisant from it ams, 5 on the bisector of it. Prove it
B of et one. of i follawing i a point g n (dl)  In A4aC, interal angle bisector of £4 meelts CB atthe point » such that :
| of tha ange bi el e e
- of a Irlangla? Circum 8D:mDC=mAB:mAC _Find the value of x. 4\
| 14, k [n-centre centre ” g - Fmnl
; P NN Lot s b o @] Lot (@) ;";‘;‘:"‘"‘ O :;nlrnld ] n . /
4 n A %
The simplified form of E{f_))_. Is: . : A 4 x B
15 £ O e & m a
:{_;Pﬂ‘[m',t”}. O « O w O 4 C
e 2 [+ ] u 2
2 x+
| - || :
! o - {xiv)  Inright a45C , find the valus of x DE)4B. 4 x
| m . A g B
' - SECTION - C (Marks 24)
SECTION—-C {Ma 4
| rks. (3xB=24
| [ ] L Note: Attempt any THREE questlons. All questions carry “:;‘::ers'iun method. 4z-6y=-2, relp=7 l
’ o N 3 Solve the following system of near equalions by using the mé e {
vetices of a rectangle.
f Q.4 Show that the polnts 42,3 B8~ C(64) and o gl 3 !
] . | : Jy=18 by using the graphical method.
Q.8 Solve the system of linear equations x+2y=-1: ik :
I [ , ’—1 B L I Q 1 are congruent and parallel, It[s a paralielogram. Prove it.
: - .6 |t two opposie sides of a quadrilateral 8 ABC, Drawtwo altitudes of triangle ABC. Write the construction
m B 27 Fomme following data, construct a riangle
T < 457, mBC = 6cm
o : steps also, mAB =Scm, méA s 2209 A —
J. n .
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L | P ,
ing i Parsonal i
WS SR me | G Wl COMPUTER scie ’
sncuriy? prssword Numbaer Q) Agware Blometrics n -' NCE SSC-1 2
. te WA EIL Latbbufe st o Iyt e Afod Y o Sxa Time allowed: 2:45 Hours —
R ’ W :r':m:d.:m“ ron. oM Saction B 43 {
.r b3 S ns B an H !
n P peatly and |.,|h,,‘.'°°"~ Vs “"P"mnma;':,,::",":‘ Tedis3tions from Section ‘C' on the aeparataly
%mwm that -;:u pl:m m:'m;: P ,.-—-—-—————-——-—___5______ La. Sheet-B if required. Writs your answers §
ignals snter n
Ignal due 1o electromagnene d - Aftemptany NINE mﬂ;&lﬂm
. Er::‘:am:l signal due 1o e L] O Owordon 5 Atenialon "y Crostak ~ ~ Nole - P @z Attemptany Parts. All party carvy quar =y
'\ PubiterieFusapiialed s = E e Sons » [0} Differentiata batween RAM gng i (9x3=27)
teLaPutavlELui P e ik n i | i Wi ety me )
naging data ang why is it impontant?
n . W) Whyiso
Which of the following topoicgres ls MOST - e . g ( "y :ﬂﬂﬂm BYStem an important software for 5 COMputer? Give any threa reasons,
at is dial
expensiva lo implement? o) Star topalogy o Bua topalagy o fopokigy o ingalogy P W ® dial up modem and why i s usear
L T Y e i T &ihA Wk ek u (v}  Differentiate betwesn .
g Wﬂuhmmb«whuswwmwwmm
a k. ()  Whatls meant by:
Which one of ihe following will allow users Fifth First Sacond Faurth, - & Port b. Expansion card e
lo ghve commands In any natursl langueg '] it tan of g of ation of m l " Enflat any th
such as English? Q comauters. - comy 0 o q . {viny ny three uses of computer In media.
Mt d Al it of i ba e Al domiied pﬂ;t:f.;JuJ
i vll Write any threa |
Wnfrs  ox ‘ g -] " (] mitations of fing topology.
' = {ix)  Enlistany three actions performed by spyware.
. i
(%) State the difference between ‘authenfication’ . e
wr-mgu of the followang is GU| operaling o g i i * Menu Driven - l " . i
10, Srater Dos Wind ~ 0% ' Mention any three prable; i i
B e £ S (@] £ O_w 0] & G ) e | ] - (xl) y preblems which may ceour If peer-to-peer network is used for a large number of users
[ ] i in an organization.
' ] | ¥ (u).  Compars ‘DSL' and ‘Dl up fine’ in lerms ok
In which of the fotiowing ransmissions . ; ’
bme-inlerval between nTmmr.“:: : . | - ] | u a. Trenster rate b, Cost per month [ Disacvantage
. shways the same? ¥ . ? 5 | 3
Gicka AL LRI il o ln (@] P (@] Vitﬁ : (@] ‘;tlfh @] ::;"“"’W o [ (xii)  What happens if slorage devices are remaoved from computer system?
febmAl . ai i ] .
| . 1
"] m&l
el stk e by : : o " Note: Attempt any TWO questlons, All questlons carry equal marks. (2x8=16)
ents of compuler dnves and manage Program Compuler : ‘
Fiex and lolders. o L Icon File Icon :gnmm Bin " Q.3 Describa the followlng guided media on basls of structure, purpase, speed and cost
Findent s Ligutedfomuliasival 2 uftak, wltied O o1 O il [ ] _
BNy . o 'm a  Twisted Pair Cable
o ] b, Fibar Optic Cable
B n Q.4 a, Describe any faut uses of networks.
——15A4 22111111 — u n b. Cnmpa;n LAN and WAN.
- | n ‘a5  a Explain baslc operations of @ computer.
[ » | b.  Descibe following components.of communicalion SyStem-
L "0")"”""’“’ ! ', a Sender Recelver  Message  Proes
: 4]
o n —sAd N—
. .
o u
Page20f2" o
. .
= =t iy e

B T 7w
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sig. of Candidate, Answer Sheet No,
i Sig. of Invigilator,

e SR
ENGLISTEoHEG W (Lass.

LSORY S§
o SECTON-A s 15, 30
wi_zo Minutes - 019 &L_‘}F)
HOTE ﬁﬁs “ﬁ"mufummmm“th“m”"hm

tho first 20 minutes
peletingloverwriting Is not allowad, no:m use m‘;‘:ﬂ 'm“ over to aﬂ
cil. f ”

mmoﬂmLmR!BICfn_

Each part carries
(T In Pakistan, there are almost i 3 db‘:e mark.
A Twomilion B,
Nolse pollution is one of the b Tl 2 famioy o Tenulion _D
o word means: "9est sources of discomfort and nuisanca in Pakistan. The underlined 3_-'
A Annayan
- i ? B i C.  Enjoyment D,  Sleeplessness
(iiy ~ Aerreading the poem, “Stopping by Woods on a Snowy Evening”, we: f )
Feel fed up with . -
f;' Wish to g'fona,'.‘,'.‘jm . B Gel ready to face the challenges of life g
2 f . D Wshmsieaufwalmgme
() s per custom, the Suton Ahad Mosqus compries a Maiassah, = hospico and 2 23
A Buril phamber 8. Cellar C Gallows D. Tomb of the founder

W The Quaid was a man of strong faith and belief. The underiined word means: .
A Firm faith B. Powerful faith C. Uncertain faith D. Wavering faith

(i)  Thephrase‘rugged and rough path’ appedls to our sense of. L
A Hearing B Smel = C  Taste D Touch B
(vij He spoke very loudly. The underlined word is an adverb of.
A Degree B,  Frequency C.  Manner: D.  Time. I
(i) The galloping horse scared the chitd. The underlined word Is afan: D -
A Gemund g S ) b
' €. Presentparticble ; D.  Psstpartcple
(ix) a___ ofships ahood at the harbour. The correct collective noun for this wouid be:
; A Fleet’ B, Fight C.  Herd . p.  Team
(% umwasﬂwmhmmsthedulcﬁheurﬂeﬁneﬂmrﬂbafan i g
A Demonsirative pronoun B. . Indefinite pronoun l
G - Pcssasme proaoun . ! 0. Reflexive pronoun |
o)l fiving in this house since 1870, 3_ '
. A Haspeen B, ' Haebeen . Was D.  wibe
(6) | soon retumed home because | was upset Its & )
A  Complexsentence 8. Compound seritence
A [ Compaund-complex sentence D. Simpie sentence . 8
(i)  The dogsat —_ his master. ! ' —_
A Actoss ‘B Aong . C.  Beside o. Over 0
(v} He tells 2 tale that sounds untue. The underiined part &fthe sentences is afan:
“' A - Advemcleuse B,  Adjective clause
! C. Noun clause d T D. Independent clause

. () . Choose the comect speliing: ’ R .
A Flamboyat B. ~ Flameboyant [} Flemboyant  D. Flambuoyant

Fnr Examiner's use only:

: [ ]
Htarks Obtained: !: :
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ENGLISH COMPULSORY SSC-I

Time allowed: 2:40 Hours . Total Marks Sections B and C: 60
e ——— ____._._____._———-_

NOTE: Sectlons B and ¢ e Pages 1.2 = m-a-“'c’onﬂ‘le
separataly prov] Answer all the questions from ired. Write
vou"mf,.‘," “:;‘; :;':"I":;mh[rh Use supplementary answer sheet i.e. Shect-8 if requ

8 -B

Q.2 Answer any SIX of the following parts In about 30 tn 40 words each. Each part carries 3 m?‘:',:g: 18)
() Whydid the pagan Arabs threaten the Hal uncle?
H% “Hb\m:t\\"‘il ol i e Holy Prophet's (22)
Bppens when medka iS allowed to play its role unchecked?  (Madia and lts Impact) Vision
(v} :\;h:i::;i be the possible solution b u;'fgent;:mhtll:ms? (Refer to the lesson “The Quaid's and
() How does the Interior of the Sultan Ahmad Mosque'look?
(W) Wy do famifies feel reluctant ﬁulndlwu;::ﬁnsw drug rehabiitation centers?
() Howis construetion work a cawree of noise polufion?  (Noise in the Environment)
() How did Hazrat Asma (RA) console her grandiather?

23 a Paraphrase any ONE of the following stanzas: T o3
(0] My littie horse must think it queer '
To stop withoul a farm house near
Between the woods and frozen lake
The darkest evening of the year, .

1} For oft, when on my cauch | lia
In vacant or in pensive moad,
They flash upon that inward eye
Which is the bilss of solifude;
And then my heart with pleasure fills,
And dances with the daffodils,

b, Read the following stanza carefully and answer the questions given at the end: (08)
Thewoods are lovely, dark and deap,
But | hdve promises to keap,
And miles to go before | sleep,
" And miles to go before 1 sleep.

Questions;

i ' MName the poem this stanza has been taken from. Also stale the name of the poet,

n The speaker in tha poem i ceplivated by the beauty of nature, Why doesn't he stop for long
to enjay it?

(i) Identffy the alfterabion and imagery used in the stanza,

Q.4 a Change the Voice of any FOUR of the following: (04)
' {)  They had gained nothing.

(1)  The driver opened the door of the car,
(i} He will give you a box of chocolates,
() \We use milk for making cheese.

(v)  Acarranoveran old man.

(vl)  They are buying this house.

[vii)  WWedid no! hear a sound,

Page 1c12 (Eng)

Scanned with CamScanner


https://v3.camscanner.com/user/download

Jamm—— P TR, SR

9
ENGLISH COMPULSORY SSC-
. : 60
Time allowed: 2:40 Hours : mﬂﬂﬂf‘%
TOTE: Sections B and C compriza Pages 12 A all the questions from u_‘atmvlf"’-w"'“
separately provided anawer book, Uso supplementary answer shest Lo. Shect-B
your answors neatly and lagibly, e —
—

ECTION - 39
arks.
a2 Ammysmnfmahnwlngwmhmnuallmrdaunh.suhﬂ"“'ﬂ“a’" (6x3=18)

{)  Whydldthe pagan Arabs threaten tha Holy Propher’s () uhcle?

(il Hew will you dafine patriotlsm? ts Impact)

(i) Wnat happens when medila Is allowed to play its role unchecked? {Media and ~The Quald

) mml; b6 the possible selution ko cur present problems? (Refer to the lesson “11o
aklstan)]

{v)  Howdoes the interior of the Sultan Ahmad Mosque look?

(M)  Why do fomiies feel reluctant to tak tho drug victms to dug rehabiltation centars?

(i) How s construction work  cause of nofse poliion?  (Nolse in the Environment)

(vil)  How did Hazrat Asma (RA) conscle her grandfather?

's Vialon and

03
a3 & Paraphrase any ONE of the following stanzas: — o
) My littie horse must think it quear
To stop without a farm housa near
Betwean the woods and frozen lake
The darkest evening of tha year, L

() For oft, when on my couch | lie
In vacant or in pensive mood,
They flash upon that imward eye
Which s the bliss of solitude;
And then my heart with pleasure fills,
And dances with the daffodils,

b.  Read the following stamza carefully and answer the questions given at the end: (06)
The woods are lovely, dark and deep,
But | héve promises to keep,
And miles to go before | sleep,
' And mifes to go before | sleep.

Questions:

(11} Name the poem this stanza has been taken from. Also state the name of ihe poel.

{0} The speaker in trie poem is captivated by the beauty of nature, Why doesn't he stop for long
o enjoy itT

@) Idenify the slteration snd imagsny used in the stanza,

Q4 a Change the Voice of any FOUR of the following: (04)
. 0] They had gained pothing,

(i The tiriver opened the door of the car,
{iii) He will give you a box of checotates,
{v]  ‘We use milk for making cheese,

(v} A car ran over an old man.

(i) They are buying this house.

[wii)  We did not hear a sound.

Fogs 1012 (Eng)

|
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b, Provide corect form of Verb of any FIVE of the folowing sentences: 3 4
- l_ . " .
) He(take) the examination next year. N o
(W 111 (go) out. | will um of the T.V.
()  The baby (cry) for mifk now. i , TEHN =5 % cw :

™M Ialrmdy[tan]mreaarpurwﬁu.'
{v)  M(begin) to rain an hour ago.
Al (prepare) for his examination since October.

P oad Geas¥)
(15,7f sl

(vl)  The sun (ser) n the west.

o ()  You (rest) since moming. Pl /ﬁzﬁﬁwﬂwwwm“ P
A L AP
¢ Punctusts and capitaliza the following para f inefs): (03) - "“?me IAFEmaLL, Ak
11 were the president of a university, | would establish @ compulsary course in how to Use your (.""u‘J' 3 & N uAr EaniiiE S 0
eyes ” L L Hr A
A ki, @
v 2 udl. £
SECTION - € (Marks 21) ' £ i
- - Wbl et " it @
Q.5  Wrte a letter to your father requesting him (o send you some extra meney for the payment of hostel dues. (08) il=s) =" - !
-OR- - a2 hE L gerw
Wnte 3 leter 1o your friend thanking himher for the books helshe fent you, - i " b Z s Sudnf W)
- £
Q.8 Write a paragraph of about 60 to 70 words on “Pakistani Woman"™, (05) L & =
) P <R canlialayl ()
Q7  Transtate any EIGHT of the g frrto Eregh (08) ag widF [ /-
. WSt i el s (W)
LSk W PRET f A7 e g P, - His A
| i fiufcoAiliea oA
WWigpgerafc} M ‘ NS L) | s 3 67 g g i
Spfat Sty () Wi, @ deASnebt ()
. _ ; ' ¥ w2 P AT A
oSy < baP Lozid§ () | . BV " gle s P @
etied Losnl fecttlicts  © | W o LT B Mo . o
) ) - . teaVedibed (X
ded L ongn () LSS gGu (D) - e o =T N T Sse A
. * fg—l{-—-fl{bﬁ g ()
-OR- _ Voot o teleuw & toiels o thleur A
Virte 8 dialogue between a student who came late 1o schoal and his / her teacher, < cmbaIs Ll )
: -OR- o T ' S~ e
; e e
Witz a dialogus between a police officer and @ young man r the whereabouts of = et MR - o
.qamvng the nearest market. ey - Fike & Aty 2T
erAAS )
s - PG S = e
LEEL TS e Sl )
= V" P BL .
(O vt [E =
. — 1SA 1900 —
e
TSR T —— B
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PAKISTAN STUDIES 580

EC j 10

NOTE!

Mdﬂlﬁnuh- 4
it should be completed In the first are to ba answersd on the question itsalf.
DeletingloverwThing i not llowsd. Do ot uas g oy %4 T 1 e Conire Superinandent
e
g4  Gircle the cOmect 0ption Le. A/ B/ 1D, Each part carics oms mark.

m M\omﬂwP!&sﬂeﬂwMﬂ:ﬂhhMﬂmﬁmmu
3 arch
A The Quaid-e-Azam e

g, Moulana Muhammad Ali Jauhar
(@  Theword *Pakistan® was coined by:
A Allama Muhammad Iqbal B.

B Tiger of Bengal A K. Fazkul-Haque
D. Liaguat Al Khan

Sir Agha Khan

c. Choudhary Rehmat Al B eysiAumadicen
(i} When did the Quaid-e-Azam present his famous fourtesn poirls?

A 1909 AD B. 191940

C. 1928AD D 189AD
(iv) When was the Battie of Palasi fought?

A 1757 AD B.  1657AD

G 185TAD D 18STAD :
(v)  Thelotal area of Pakistan is:

A 96085 sq, kilo meter B 755095 sq. kiln meter

C. 896086sq. kilo meter D.  796086sq. kilo meter
v MnatpemrupmufmewHamoiPﬁmk_medeM?

A 05 B &

C. 15 D. 5
(i) MHgmwwsdemanddﬁﬂms;\nm::rﬁf

B s D.  Hindu Kush

c. Karakoram
(vil)  Indus Water Treaty was brokersd bY:
A Trusteeship Councl
G.  The International Coutt nfed n the country in:
(% The First Consiftion of Pakistan wes -

B. s;ommﬁ"
o0 “The Worid Bank

1956 AD
A 1958 AD D, 1855AD
c. 1954 AD
) TheWorld War ll broke ot g 199AD
A 1914AD ) ) o 1MEAD

c. 1939 AD

For Examiner's use only:
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PAKISTAN STUDIES SSC-| .

0
Time allowed: 2:15 Hours * _@

NOTE: Answer any Eight parts from Sectian ‘B’ and any | ——
any two questions from Section iy —
npmviﬁ.u“u, e ::!m:; ?nol’. Use supplementary answer shoet i.e. Sheet-g jr uqulrm::w::t::m'?
ey . SWers

SECTION - B (Maris 24) T
Q.2 Answer briefly any eight of the

following questions.
0 Wnatis meant by ideology of Pakistan? (8x 353
(D What cid the. Quaid-o-Azam say about Naonatiem?
() Whzt was the reply of the Quaid-eAzs
() Wrlte the text of Pakistan Resolution,
V) Writa the names of tha members of
(vi) Describe the location of Pakistan.

m in Jinnah — Gandhi Glks 1944 Ap?

cabinet mission plan 1946 AD,

v In whieh mountain 392 &re the Topl pass and Gemal pass stuated? B S T6
{vil)  What steps are being taken by the govemment to improve 4 ® 108 k™ = o i : D B0
{bx) Whatdaymmeanwegmm_ - A 10 - B o
(x_} wmrmmwdm“FmeQmm1%1w. @  Changeinposiion s cajed e W e
Pd)  Which areas of Musfim majority, India got as a result of unjust divisian by Radcliffe? . A Speed B Vebdly € pispiacement D —
Note: Attempt any .. =C (Marks 1 (W) Wnatis S! unit of coefficient o icsor -
: Phany: TWO o All questions eamry equal maris, T - ’ i
i 5 2% 8 =15) i A Metre B Wogmm - € Second D.  Nounmit
Q.1 wa{nh%ofmeowmummwgmemwpm (v)  Mass ofabody is 200 . s welghton the sirface of sxtr i "
-4 Describe tha importance of piain region of Pakistan. i @ . A 20000N B, 2N . o 20w D.° 02N
Q.5  Write the safiant feah i - - ; L2 :
5 of the cabinet plan 1346 AD, " (o) 1t F = 200N and £=30"ith horzontl e what wil be'he vaue of F, 7 _
2445 o A SN B MON  c fr2n o~ 2mn .
(Bx3=24 i > Thavﬂueofgmnmn‘samis1.§m4:mmyihem=wmﬁa1mmmm‘*‘e
' e o8 s i
= b &W}L&Mm ad e * - gurface of the moon? . G : ) .
el F g AL CHON T BN - CC 00N D 1EOON
!'y.}y’l_;.-_,{,;:_,;,;;_bww a (viii) - A body of mass 50 kg is raised 1o a height of 3 m. Whatsits potental anergy? ;
2 L : 0y g0y - D 1500,
MLEMJ&TMIM(L@ ) . AL s00d B. Filiii: pa, L E
I Py B (5] Pmef’fmwo-fmw'w:n:g: C - foad0 D W30
= » e B_ B 3 ¥ >
S Y A TV . s B 08000 Jecos do it leave their mean positon? .
’ 5 Rl " 7 () Inwhichof thefolowiny te il % Gs . D Pasme
TR O ) oid © . B W . ©C - maigl X
- AT . r ' 5 ——
fqdu&u&fﬂm‘ék, (vii '(xil' i m;mwhmwmwww‘ ey
S A £l i) JETe w T aE AR S
?F-\”fkfﬁ-l;-?{ﬁ" ® T 180 : B. 5 ﬂl ; Z o - . .
L et ufc.é,t.wmﬁ:,my.{}—- ) © i) S unitof therml conducty s i 0. Wm'k.
£_ - e 5 Sy . = £ ol
¢ U:-";’a P el B, (] AP
: 160) =
=16 . + . e
B {"‘QMWJWB =dhH For Examiner's use only:” .

E O e e i e £ oy by
i R
-_éw;-&:u_mc.1945¢;¢.f;._,r b

Nzl
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Scanned with CamScanner


https://v3.camscanner.com/user/download

PHYsic’s SSC—|
\2 . -

Time allowed: 2:40 Hours i Secti
NOTE: Nmranydmnmhﬁnm&wm B ang two Tow"am Walﬂdc:s;;
. 1 any qmmm
provided book. Use suppl o tha
sroasd samaer Tify shestie. Sheet-8 & required, e Your
SECTION= 6 (Marse 33 T
Answer any ELEVEN m.mmumwmuunmmmeo four fines, (11x3='m
(i) Define ‘base quarntities’ and ‘derived quantiies’, Also give one example of each,
(i) Emrassmeﬂlo\mngqil'!n‘uaaushgm
a 5000g . b, 20000007 c 52x10™"kg
(iiy . Dmﬂsmsﬁnemphsfwanahm
a, Al rest ’
b, HnMgwﬂhm.speeﬂ
‘e, Maving with variable speed .
() Abudyofmass&kglsmvhgmawlddu‘raﬂﬂm"fhdmafomruqufradhshopftinzseconds.
v} Friction is a necessary evil, Why?
(vi) Tnochildmnamslmngnnmeasemmmu-wmmuksudng Whatlsmenetmuehmls
situation?
(vii) _ Whats tha relation between s!ablﬂyand position nfﬂerdra of mass?
(i) mewusaymmgmﬁmhru&aﬂelﬁhm?
()

What is chemical energy? Explain briefly,

(x) ngnunhsnwmbagupsmslnahengldoﬁsmps.eachznanhinh.ca[mrmmsamumcﬁ

) wmmhasaanammmahag (8=10ms™) '

" i) Tneumghlofameuspomln-atrisn‘sshl hw;hthmﬁ:o.wh’.ﬁudisdmtq.

(xil) Whmsupmruma‘pumm.mmmo:am : e g

(il Wfswahrusedhmoﬂngsymnnfmm? N ’ o

(xiv)  How does bimetallic strip work? . : B ik

(xv) " Deserts soon get hot during the day-and $000 et cold afler sunset. Why? 8 i
" Aths _;_anr‘l'wo All it an]r-qnal'maﬂc:. = (2x10=20)

3. Whatfs a physical bafance? Explain, . T ) ’ (©3)

b. DmveZmS—v --v, 5w 3 S A : . (04)
Abonyhashfefgmzou meunmmesmquuedmmnvnvqrnamyupmswm '
anaweldraﬁonofzm* ety :

: L (03)

: Mausrmmnyswe i urtsrabfs equibrium? Explain,, | '

ke (2+2)
Derive an expression for the nrtula:speedu(m arﬂﬁda!satdlrrx S (04).
Amomrboatmove.sstamadyspeed'nf&im" WaﬂerraskaanceachngmirismN -
Calculate the pnwerofﬂsenghe. i - (62)

" Wiiia ol o hydraufhbmk:ngmmmmvdﬂdes. i ; S (03)
A contaier has 25 fires of waler at 20°C . How much heat is required 10 bol the wister? (3)

. Wite a note on application andmmqamqunon - ke (2+2)

— 154 ,m_mu—-" e :

&

To \

i —anawer any -Iwe;“:am Section & s 1l Marks Sactions and C: 53 ;

{0TE  provided :mhglbgy K. Uss sugp m"z QUsBtlong h_ Section 'O on " e
neatly an A ShestoB if requined Wi m‘e’;‘:w‘; :

ot

3=
Mmasg, \mlaanw'amplnmamh e
i Theatomic mass of capper mea i gy'g g, e '
i ‘,\manymreeusasufmmmhw 6% of 3.5 molos of copper,

Note:

Q3

Q4

Q5

. CHEN'!I%%RY T ay
_ RY S5

¥
owed: 2:40 Hours r

o) mmmmmmmwm
slectronic configuration,

2P and Boron "fnﬁmmairm shel|

(i) Ditferentiate difusion and effusion,

i) 's Yo E*"""“'MMWWWmaummmm
() A chemistdissolves 112 g of Kol {moar mass 56) In twodn’ of ssiution,
) Compare salution and suspension in e points.
() Which substance is reduced and whict one Is axized in each of the following reactions:
a. N, + 3H, = 2NH,
b. Cl, + H,§ = 1HCl+5
c. INH, + 3Cu0 - 3Cu+IH,04N,
(xil)  Explain Zinc pating with the help of chemical equations. _
(i) & Which element is more melaliic among Benyflium or Calcum? Give reason.
b. Write any one usa ufMaymhm
i Elaborate this statement
(xiv)  Moble metals are inert 1 .
(xv)  Write the elemnlc configuration of the foliowing by using 1s, 28 ........ ot
a. Hel b RS e Ne

Find its molarity,

a

Define (143)
and determine fis molar mass.
I‘N and IH vmmkmmﬂm‘nwdkm ‘M‘
zation eneny iy
atomic size, Also wiite
: ) N dot and
dloxide molesule with ;
le. Using this rule, shaw the amna’inn of carbon ™
A Define octet rul
els
o | ﬁHatuommre,mmw_
b, Define Boyle's [aw. Volume of ethane 925 5 - Mm&w ”
volume becomes 5.0dnf . ExpRIN change 1ﬂ
MUMM1nsmm hrﬁyoh:mil:suﬂdsmdgasa (1+4)
slfedafmeﬂ'ﬂ'munn-esdu )
i in the i
a, Define salubility. Explain o~
B Explain the electrolytic efining of OPPEf “ﬂ'l‘“‘ ‘
- ..-|$|l 1 —

Attempt any TWO questions. All questlons cary equal marks.

SECTION -G {Marks 201

(2x10=20)

ndt hycogen are
atoms I the symbpls of irogen &
A molecule has two nitrogen and fourhydogen
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! Answer Sheet No,
. A4 T —
CHEMISTRY SSC ) g‘jgl-m
SECTION-AMans 12 | 2(]9
Time allowed: 20 Minutes ; b
NOTE: Section-A Is compulsory. All parts of this sect am to be on the g,
i should be completed in the fist 20 mindtés and handed Centre S, P Hue|
Delets riting It not aowsd. Do not use ead penctt, o OC Superintendan;
Q.1 Clrcle the camrsct option Le. A/ B/ C /D, Each part carries one mark, S

(0] It the mokar mass of a compound is 80 o/mote, the mmberoﬁtsmdumwjning A0 x10¥

molecuies will be:
A 15 B ap c. os D. 45
M The cormect slectronic configuration of 4 Mg is:
A 17,25,2p%,34%,3p 44, 344 B, 1f,200,2p¢ 35
C. 17242937 30444 38 D 14,2420 350

(i) lfyourrm#omlsﬂwﬁabli’lapubdofpaiud‘:labln,uh]mdﬂmfoﬁuwingw‘ﬂNOT:hange?
A Alomic radius B, Alomic mass  C. Shielding effect D. Muciear charge

() The bond which Is formed by complets transfer of electrons from one atom to ancther s eafiad:
A Covalant bond E.

Hydrogen bond
= Co-ordinate bond D. lonic bond
] The melting point and boiling pint of water are higher due to;
A I8 covalent natue . E. Hydrogen bonding
C. its higher molecular mass D. its higher density
¢ Theeqution = is the math exprezsion of:
A Charles’s law B. Avogadra’s law
C. . Boyw'skw D. Law of diffusion
(i)  The direct conversion of a 506d info vapiurs i calied: . .
A Evaporation B. - Melting C. Ealling 0. Sublimation
(vid)  An o can di 25 g of a solid 2t 25°C. ffsafpemedjssarvaszﬂgofrmsmiainwmr
at 25°C then this solution will be calied: 2
A Supersatraied solition - B- Unssturated solution
2 Seturated sofufion - . D.  Sofution of fiquid i fiquid
() A chemist dissolves 15 g of NaCl in 85g of H,0. This solution is: '
“ A 85%mim NaCl solution - . B 18%mN NaClsolution
C. ' 15%viv NaCl solion D.

15% m/m Na&.’fwlm_inn =
‘& - Gain of electrons and loss of axyges & catled: @ .
A Oxidation B. . Reducton = C.  Redoxreaction D

Neutralizétion reaction
o . me;mhm%mmmmﬁ ’ 2

CA L 2Hy, + 0,/-2H,0, < B I, 427 a2,
LG Cpyo Oy, 43e” D. Pb, + Ch,,—+ PbCL,,
" () Which of the foflowing crides s the Most basic oxide? o
A 80 B .BO : C° Ca0 D Mgo
For Examiner's use only:
' Total Marks: E
Marks Obtained: L)

o —1sA tma gy —

P s -

Part ¢

skinisan mhmmi%t
A Cells only

C.  Both Cells and Tiseyes : Tissies ony
The unicelutzr organisme which rese ” Sysems
» A Agee B . S B0k bt ehiorogin and cetl wats e caled:
c.
@ wmchﬁﬂ?‘ew‘lbe%rimhﬁpm n llmaa D
A _Bm B Safm c Usine B
™ The o=l theory is NOT applicable to; o
A Mﬂa B. Virus " c. Fung o
W - Smooth form of endoplesmic reficutum s withowt . :
A Golgi complex -8B, Rbosome . " D i

‘(i  Each diploid human cell containg 46 chromosomes. i such 2 cetl undergoes mitosis, how many
chromosomes will be found in the daughier celis which have just passed through telophese?

A 23 . B s I - D. 14
(i)  |f more'substate is added in an aready going chemical reatfon without changing s rte, the siustion is
tenn_ea_f.s: e :

A - ° Saturstion -B.. Denstwsfon C.- Compesfon D.  Inhibition :
{viii) Ammnd%ﬁnhh@hﬂm&mm:mmhwwg_

i A - Chioophyl 8. Thysksd C. AP 5. AW
I (%) "' puring starch test.mls leaf boled in ethano? .
‘ "A- Tokiifsprtoplsm - T B 1::;@:; .
] : . D Torehn
| c.  Toerctisclompil : v ol . '
‘ (x.} g Qi_llusbonﬁimveﬁe‘hfmhﬂmmdum:ﬁ&‘gﬁ .
- A~ . Aminoacids oo
| C:  Capohydrtes . B
() Inwhieh of thefolowing plars;ther i b HOTHTSE peudic submeeged pIRITS
A - Plants growing in hily rogons 0. Aqualic plans with fioating leaves
" C. - Pantslvngindesets . T - T ‘ _ '
(d) © Aderies M@eﬁﬂmw’?}‘sw’rm B Sowbloodfiow stiow pressu -
’ A Rapid blood fiow 2t high Slow blood fiow athigh pressure
. : i '1mdmwatlﬂwpfwe A L
. B Rapl?b B e ) 2]
For Examiner’s use only: 10?1—|.|.m.ln . : D
: ) -5 lla:‘k‘sob“""’q:"

_gsa T

BN “‘\.._
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BIOLOGY SSC-l

Time allowed: 2:40 Hours

Total Marks Sections B and ¢; 33
NOTE: Answer any “eleven parts from Section ‘8" ancl any queshons from Section ‘C’ on the e
Use i.e. Sheet-8 if required. Write your sngur.’
naﬂry and legibly.
i
SECTION-B [Hark: 33}
Q.2 Attempt any ELEVEN parts. Tho answer to esch part shiould not exceed 3 to 4 lines. (11x3=33
{ Define the foflowing branches of Biology:
a, Entomology b. ° Embryology c Physiology
) Why Ronald Ross used female Culex mosquito instead of female Anopheles mosguito in his expeniments
on malarfa? )
{iii) Who proposed 3-kingdom classification system and what objections were r:-aised against this system?
(iv) Nameanylhree" 19 pecies of dni hPa'lu‘s!an

] Which group of organisms contain cell walls around thelr nsl!s‘?Nso write the composition of cell wall in

each group.
(v)  Howis the structure of m‘mmhanr.lrh reiated o its funcions?
(i) Define foliowing:

a Faciltated diffusion b " Osmasis G . Active transport

Apopmsrsjsmnsldereﬁaspmgrmuneuceﬂdeam PrweﬁisbyenﬁsMghestapsofhepmcoss .
(x) Define crossing over. How is it significant?

%) Howean
'(-xi)-

(vii)

Y lower the Activation energy?
How does $ﬂ'u(-'il.l|'e of ATP reveal tiat it is the energy cumency of céf:?
(i) . Differentiate belween Alcoholic and' fachc acid fmnemshon

(i) Wha!are the reasons fnrﬂhec:aaﬁm ofTram'-pIraﬂun Pl.l'fmphms?
(%) Howere enthrocytes different from levcocytes?  *
{xv) Wh‘ls sources, mﬂdnns and daﬁdency symptoms of vﬂamin A
_ . SECTION ~C (arks 20)
Note: Pt any TWO questions. Allq cany equal mars.. @x 10=20)
Q3 a Whal are Epﬂ)eia.r vejrs'? Narne me:rdrﬂermt lypas and wn’he abol.rt mmrstrumre I'ncatmn . L
and functions, . T . (145)
Enlistthe phases of Cal Cycle with Lbefled diagram, .~ . < - @)
Q% & Describe the process of aerabic respiration in detail with the help of labelled diagram, - - {5+2)
b. High temperature aenaums me enzymes. How? - . R (03)
Q.5 a The procass ofd:gastroi; mrpplines In small intestine. Explaifi various steps of this process
with labefled diagrarn, ) - (4+2)
b. 'Give a comparison of Pulmonary and Systemic circulatian, ' ’

(04)

Section-A i5 compulsary A Tl —
n.;m..lducomm,n “m"‘“"ﬂlumb.

peletingloverwriting is ngy .M Minuey

AfSwersd on the g r itself.
D““‘""Hﬁ Mndq Wer to MpWMMGm
: cwgmmmctwﬁmla.mmcm_h‘
- ) A squara muﬂﬂdﬂg‘h’ﬁhd‘:‘“‘m‘l&mm

A Negative B,

=
Posifiva
@  Thevaeof i® i + & Zn D.
A 1 SR - g
() The o9ahm of any number g gy g >
A 1 : B, 0 I(;. ;
(v @ —ab+8 satactoret o
A & -b
B Pep L N —
w wpensx’—snzaadmmu“_hmﬂem
A 9 B.

4 ¢
i) H_c_Foisfy’z‘amaufy’zig_ A

A 5xtyis? E. Sxtyty

c. 30"y o. 02’y'z
{vil) x=5 isamﬂismuﬂmﬁum d

A x<0 B. - x45<q €. res5sQ 0. x-10>0
{vili)  The point (~3,~1) les in the quadrant :
A g B . @ c ‘m ) D. ’ w

. ) ) The midpaint of the hsegmim tg-m (~4,9) and (—4,-3) Is:
A (-2.8) B () - «c

(0.6) B.  ®-6
() ARayhas__ " endpoints. i 3 _
© A Mo B. One c. Teo D \nfinite
() ' Sumof the adjocent angles cf aparaliéogamis .+ g
A 9 . - B 180° oo ome . 360°"°
e e c. &°. o o0
‘{ﬁl Right bisection of a line segment means o draw a perpendicular al the . ofthatline

i . i ** Two points D.. Infinite points .
A paint B. . * Midpoint C. ¢ . .
(dv): I hypoten!se_dan isosceles right triangle ts [ cor , then each of the other side is of length:

A 2om R L, ¢ " 1am 0. dom’ ‘
ov - NﬁmdbManequnammmgetﬁmﬂmwmamlmsmm&wangieol- _to

that sida. R e iy .

A 3°. . B .4 ° c6O% 0. 90

e ——

Total Marks: ; : E .
tarks Obtalned: * D

—1SA 10O [ —

For Eumlnél‘s use only:
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MATHEMATICS SSC- 1

{Science Group)

Total Marks sﬂ-‘ﬂﬂl‘ls B and [

h?sew

Time aliowed: 2:40 Hours
questions
shest Le. Sheet-B If required,

NOTE: .l.mmpunr Mhtprh from Section "B’ and any three

rovided answer book. Use supplementary Write "‘lﬂy
:ouuy and legibly. Logbook and graph paper will be provided on demand. YOUF answyy
. ¥ __-'-——.__-‘-‘
SECTION=-B 36 )
Q.2 mtmrmwmﬂlmmmawd{n_m “213‘“)

o e Jrmar-os-c

, [~
(0] Lela‘l-—[z 0 3 -5

@M B n[; -;]lhun show that BB~ = f

(W) Solve the system of linear equations using malrix Inverse method, x+y =75, x—4y=0
2 Y (2 )™

o walf ] -swer
a' a

() Solve the foliowing equation for real x and y A=) (x+p)=2(x=2y7)+2i-1 =

{wi) Prove that log,( ]:-Iog.m =log, n

Use log o find the value of I:;XS:;:G
x
=2

(vil}  Perform the indicated operation and sim ———-——x+—2-—

o 46249 20718
() I 5x=6y=13 and xy=§. then find the valus of 125x" — 216y’
{x) Faclorize 4x* +8§1

(i)

©d]  The potynomial x* + Ix* + mex -+ 24 rasaﬁac:orx+4 and it leaves a remainder of 36when divided by
(x—2). Find the values of 7 and m
(i) Factorize the polynamial by factor theorem x* —6x° +3x +10
(i) FdeCthdivism}Fhad ' —4xr'—6x, 4x'-32'-357
{xi¥)  Find the value of k ﬁrmbhmubmmwmbwmaapeﬂwaqm
ax'~120 +37x 42z 4k .
() Solve the equation 2 ——[—--—— , xEdl
=1 x+] r+l
) Salve the double inequailty —2{—33(1 where xe R
(x\-'ﬂ; Solva the following pair of equations x¥=3y , 2r-3p=—6 using table of value of x andy.
{xvii

Find the length of the diameter of the drdle having centre at (-3, 6) and passing through P(L,3) .

SECTION-C (Marks 24)

Note:
. Ahmammﬂsiquesanwmmnyequﬂmam 3x8=24)
. mmemiupmntormehrpohnusonfnruhtmyes from.its three P(-2,5) , o 3)
and R(=1,0). o
a4 vaen:armeltnesegmnt.juinin
ghemndpmtacﬂ\vus‘desnr
... avlangfessparﬂutomsmds:deand
Q.5 Prove that if.two sides of a i
angte are unequal in fength, the
oppecte o gth, hﬂqersrualnsanangreofgmatermeasure
Q.6  Prove that the intemnal b
: 'bw“’“’“m“ammmwdesmsdeopposﬂemﬂmm
K- T & ratio of the lengths of
Q7
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sig. of Cand[uau_\

ngwer Sheey No. o(\/
;;"“' - lg-\ \Co
(Fo Ti':g: SRSy NCE gon 1 S
in SC~
SECT |l'nPa|l'ed Chilgs, 201_?
R a0 Minutes \L&%s\l n) «
3“
tlon—A IS COMpUlisory, &) Pt
:::: E;E:&:g”famwﬂﬁ rli:t g‘““ﬂ:}:’g "d:'cg: ang t:“ ANGwergy on th
e e G eenient

0 —_ _isaseiof
to operate with the herdwa,-,
A Arithmetic ang Iug|ca| '-lnlt
Cc.  Operaling system

Adan

Tt e
“a"“‘hwse ! l"s"""“""-“"s‘ﬂmei:lcum:vm:r.tmrng it how

which of the following is c:':‘:‘];mmsﬁng it
. 1= 15 the
W 4 ENAC B, ﬁ‘“M"“‘m";’% device?
G asacus
which of the following boary 3 . D unvac
@ . signboard = g, ‘amﬂuﬁmm ok
. GB stands for: " Mamboard D vy board
w g Gigabyta B Gigan & o
. rade
W) Which Df ﬂ'i& fallowing is & volatie memary? byte D Great bus
A B cru
C. Reamy )
. ROM
1 f the followi .
1) \;Lvmch ODIR ng Dgs oum’:%nd Sused o :w the screen?
- Co D. cs
which of the fallowin i
) O X e orseating U™ ceveloped by Microsolt s widely useq?
c Mac D Windows
i MMKMMMMMM MS = 3
o ke B G M Woras ot _
Outlet D. Document window
Which of the following option is used for incl . !
L inclucing the fi
) symbals, curly quotes exc? bullets, forelgn characters mathematical
A Symbol B. Word At & Drawing D. Clip A
(x)  Which of the following soitware automatically plays, cispiays o downioads advert toa
usually without user's kncwledge
A Virus Womm C.  Adware D.  Hacker
{xf)  Vvhich of the following type of virus is a computer code sent as an e-mail attachment?
A Software virus B, Emailvius €. Antivirus D. Animal virus
[xii) Which of the following scftware is an antivirug software?
[ A VLK B. OLx C. AVG 0. MAPS
[6il}  What is used for creating decorative efiects in MS Word?
A Paragraph formalting B. Text formatting
c. Page formatting D. Word Art
{xv)  The white space between two adjacent lines of textis called: _
A. Margin B. Alignment C. Line spacing O, Paragraph spacing
y - hefore each fem in the fist?
{xv) nmmui;remwsgmmpfdmlﬁ“g y 0 i
RS
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COMPUTER SCIENCE SSC-|
(For Hearing Impaired Children)

Total Marks s,
: —ar ectl; .
NOTE: ::u:er any five quastions from Section B’ on the separately provided s o 20
pplementary answer sheet Le. Sheet-B if required. Write your answers na atly ;n; ,‘:‘g"l’b"mbook. Usq
SECTION - 8 (Maris 20} ' : —
Q.2 Answer any FIVE of the lollowin
g parts In 3 to 4 lines each. Each
i part carrles 4 marks, {(Sxd=
20}
0] What do you understand by word processing?
(i} What Is a document window?
-
(iiiy Explain vanous ways through which Secyrity thrests spread In computers,
() wsmmmmmmwmm
re,
{v) What are single-user and rnul‘ﬁ-uscmperaflng systems?
(V) Why is ROM known as 3 non-volatile memory?
(Vi) Whatis the diffe
rence between analog and digitsl computers?
(¥ii)  Define input ang autpul devices,
——1SA 1944 (HIC}—
I~ e

\@c\

S2%

&g ol Can didato_______‘__‘-‘--

4 Arwershenine 2 018

—— - T vigiater,
SEET?O%MPULSQM s“ CL&SS”:JJ%’

% SC-—I

jon=A is compulsory, Al 7
et | be completed In th??r;' this sectign 47,

Flisy

5
16 g shoY rwriting is Miny 10 be angwe 4 .
0 Jgting/ave ng Is not allowed, pg 15 ang py, red on the question paper itself.
oe . N0t use jeag p.nc"_"u“ OVer to the Centre Superintendent.
o correct optionie Ajgy
circle ¥ Muhamma C/D. Each pan carpigg on
2l o Hazral Munammad (%) spent mos; f i s ® mark,
n
A Thirty eight 8, Thirty five c”lmue and meditanon at the age of years
(ii) Hazrat ASma (R.A) remained steadtast ang g,g . Fory D Sixty tnree
A Truthful oL teveal he secret Tne uncerined wors means
c. + Modest g :"!‘rl and resolute
) The Blue Mosque has minarets, ’ repared for the worst
Six B. Nine ¢ n -
w e Dranches were covered with blanket of snow, In nj i O Twee
A Alliteration B Pe - In Ihis sentence we find an example of: O
. rsonification C s
d imite
W Helen Keller wrote the beok “The World | Live In" i D Tetaphor
A 1908 AD 8. 190
|f1 see Aslam, i A C imos b 1%68AD
M A 'Ilwite' B " lu.dmer tomomow. Chaose the correct form of verd
. ol ? lm;nud C. Haveinvied D Invitng P |
(i) Nobody was there to rescue the child. The undertined word is a/an m
A Indefinite Pronoun : !
C . Foumessie proron 5 Betwive o @
it} She gave all the maney 10 the poor and the neady. ran)
A Out _ ge- Through c In D. Away > ?.-
{x)  Theboylauans loudly. The underined word is aran:
A Intransitive verb B8, Linkang verb .
C.  Transitive vern D.  Helping verd : m
% The lorry was carrying slolen goods, The underfined word is: o
o D
a A Present Participle B Past Parliciple
Cc Main verd D Gerund N
()  We have bean reading for two hours. What tense is it? . D
A, Present Perfect Continuous Tense B. Future Perfact Continuous Tense
C. Past Perfect Continuous Tense D Present Perect Tense .
(xiij  1ate somerice The underlned word is afan SO
A~ Adjective of Quantity B.  Adjective of Number 8
C. Adjective of Quality 0. Demonsiralive Adjective w
%) Most of us take fife for granted, Itis afam ‘
}
by A Compound senlence B Complex Senience
C. Simple sentence D Compound-Complex sentence
(xiv) He was very pleased that you have passed The underkned clause s a/an
Adveibial clause of Place
A Advernial clause of Mannef 8. i Tl
c. Adverbial clause of Time o Adverbial clause of Reason
e (xv)  Choose the correct spelling: o e i
i Embelish . mmbe!
A A Emoesn 8  meelisn G
———
For Examiner's use only: Total Marks: -15
Marks Obtained: \:-_.‘
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aliowed: 15 Minutes

spctlon=A 1s compulsory. Al parts of this

|t should be completed In the first 15 m?nl]nmllw:a ':.:;.:n?::?:mha
Deletingloverwriting ls not allowed, Do not use lead pencil,
/;::l:_ih:nrmt option i.e. A1 B Cf D. Each part carries one mark.

Whean did Urdu Hindl controversy start?
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(i)

(i)

i)

{wil)

(viil)

(ix)
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PAKISTAN STUDIES SSC-I
SECTION - A (Marks 10)

gquestion paper sell.
antra Superintandent.

State Bank of Pakistan was inaugurated on:

14th August 1843 AD
The highes! peak of Kohistan-e-Hindu Kush is:

Whien did the Quaid-a-Azam join Muslim League?
Shanrah-e-Resharn connects Pakistan with China thraugh:

The Objectives Resclution was passed in:

East india Company finally came to an end in:

The growth of an economy from b3

Economic development Balance of payments
cong

The national animal of Pakistan is!

j .
Genera nuhammad Pyub Knan imposed Martial faw in the country

s e “ee i
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PAKISTAN STUDIES SSC-|

Time allowed: 2:15 Hours

Time alow Total Marks Sections B and C: a0
s swer any Eight parts from Sectlon ‘B’ and any two questions from Section 'c* 5
Wi S Bt on 'C' on the
:::ay :n;?:g‘:;l;‘ ok. Use supplementary answer sheet l.e. Sheat-8 if raguired, Write V"“‘:.rn‘;:':g
N —
Q.2 Answer briafly any eight of the following questions.
(i) What is meant by ‘Toheed'? mxay
(i) Give the location and area of Pakistan,
(it} Winte three causes of land pollution,
fiv) Which areas of Muslim majority, India got as & result of unjust division by Radclifie?
(v} What did Allama tqbal mention In his famous Allahabad address?
{w1) What is meant by Union Councl and Union Commitiee?
(wii) Wiite three points of Wavell plan.
(vill)  What is meant by Twa Nation Theory in the historical perspective of the Sub-continent?
(ix) What do you mean by Economic Development?
{x} What were the islamic Provisions of 1956 constitution?
{x) Wite three prepasals of Cripps Mission?
SECTION-C 16
Note:  Att
ote ptany TWO g All carry equal marks, (2x8=18
Q.3 Namate the main points of 3rd June 1947 plan? J
Q.4 Describe the significance of forests?
Q.5 Elaborate the Ideology of Pakistan in the light of the pronouncements of the Quaid-g-Azsm?
(240 (o
(8x3=24; A
) el e e Sl 2 s
el (i}
LIl S S, i)
. wlymdsdfSnes  m
e sl bl ee Ve ofple (P, )
WA B L Jfw ()
e Ve Fleaoty )
sl W iy
e rte ¢ Midnt SR A4 i)
feife il (i)
N S AR
A -SSR
(164f) s
(2x8=18)

(el ol P 1 2 31D

Ao L L 1947023 Ay

BV TR T A
U/ #UJJL'}P@ AU Lﬁzzf.;bihlﬁ(ﬂ’li v ey

| — 154 1825 —.

i crlon-A IS compulsory. All parts of this sectlon are to be answered on the question pager lsell.
o Se hould bo_completed in the first 20 minutes and handed over o the Conue Supsrintendent.

circle
at

Aol Mo- m 0 Answer Sheet Mo, - —_—
sig. of Candidate. Slg. of lm!q,imor.,ﬁ&_aah

SEPHYs{i:‘s SSC-1 E’ysm
CTION — A {Marks 12) zma

||awﬂd‘ 20 Minutes

netaﬂl\sfw“"'i““g s not allowed. Do not use lead pancil.

the correct option Le. A/ B/ T D. Each part carries one mark.
The Least Count of a measuring cyfinder is:
A \n? B. 0.01mL c. 0.AmL o
Significant figures in 2 numbes are:

A, Al the accurately known digits and the first doubtlul digit
B. Al the digits i Eros . |

Al the accurately known digis : b
$ il ine accurately known digits and ali e daubiul dgis

wyhen an object is meving with unitarmly changing speed then the slope

®

(i

al (ne speed-ume gragh

(i)
N m:” - Veloclty c. pcceleration D TaomEnLum
) st R 1 and opposite forces F Newlon each, Tha tenston in 1he SIANG 15
(v)  Astingis streiched by two equs - i
A Zem @ 2Fnewwon G - -
e e eleranon s ko
- e e ol s Ch?nging % T:::‘:mnn 15 oL uriorm.
2 €. i velocily is changing M )
comple Iution around the &2 \ -
" e o r:m 283 days C. gs52nours B ] Tm
BT - ' s Rinetic energy W
:.m ass of a body is nalved and the yatacity 18 doubled, then "
| ; —
. : ' i 2 o} 3!
B. "
A —mvt
2
i sofid 12! i
Uit for the thermal gonduciviy ol 8 i ] _—
(viiy  SiUD i . . .
; " - i 7 |Laent neat of fusien of ice is 336U i
. i of o
heat enargy i5 required 10 mei 250% 0 nmmm
¥ - 24000000 C. 1344 :
B.
A, 84000 N
I e sity of ma\w. )
T o B e an:n:e:ﬂ;m of the fiouio
Depth in the liguid ; = Frine o
! ass of the fiquid g
5 co o kg through 3 distance of 3m
yes 3 body of mass 2 = -y
iy M 100N force MO s . o o
j g HE
" - . rengtn’ of e Earth al a distence 1t (wher
jue of the 'gravﬂa&nnal field st '.
iy Theva { the Earth will be: . - e
Eanth) from e surtace of ung_‘ . SR
2 B [}
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ey
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PHYSICS SSC-1 (1) \ a e ———

Time allowed: 2:40 Hours Total Marks Sections B and ¢
i 5
NOTE: Answer any sleven parts from Section ‘B’ and any two questions fram Sactlon 'C' on the “”m.: CHEMISTRY SsC EN}“STW

provided answer book. Use supplamentary answer sheet Le. Sheet-B If required. Writs your i SECTIO Al
newers SECTION - A {Marks 12) 2018

neatly and legibly.
owed: 20 Minutes

N—8 (M S
ﬂnl’a"

Answer any ELEVEN parts. The answer to each part should not axceed thres to four lines, (11 x 3= 1)
0] On closing the stud and spindle of a screw gauge, the zero of the circular scale is behind the Index (ina

and Bth division of the circular scale colncides with the index fine. There are 50 divisions on the elreular
tive threads on the spindle is 0.5mm. Find Its 2ero error ~ Circle the corract option L.s. Af B/ C/D. Each part carrles ane mark,
a.

~ gection—-A Is compulsory. All parts of this section are to be answered on the question paper hash.
NOTE* ¢ should be completad in the first 20 minutes and handed over to the Centre Superintandent
mnngrovemrmrm Is not allowsd. Do not use lead pencil,

Q.2

scale and the di b wio
and z=ro carmection. o m The empirical formula for caffeine ( C,H, N0, | Is:
(i) Define Atormc Physics and Nuciear Physics. o o
(i) Acyolist competes nalf round of a circular track of diameter 636m7in 1.5 minutes, Find hls velocity. : A:  GHNO B CENO & CHN :
(v} Define inerta. Describe the factar on which it depends. (i How many atoms are there in 1.26 moles of Zinc?
A 6.53%10" Zn atoms B 7.51x107 Zo atoms

(] How much time is required 1o change 2205 momentum by a forca of 20N 7
D. 9.53%10° In almms

c. §53%10” Zn stoms

{vi) Can a small chitd play with a fat child on the see-saw? Briefly explain how? .
(vii)  Onthe surface of the earth, the weight of a bay is 400V but an 2 mountain peak his waight is 360/ . (i) \dentify the number of electrans that f-subshell can accommedate.
Calculate the value of * g * on the mountain peak, . Tl A 2 ; B, [ : C, 10 0.
r N tectrons il frst
(viii}  State the law of gravitation, ’ (i) Keeping in view Auf Bau Principla, identity the aneray level which the & : ns -
(ix}  Make a flow-diagram of energy ion for a hy power station. A 2P 8. 25 c. 15 i
x) _ Describe Hooke's Law. ) The electronic conﬁgumlinﬂ‘ls"xs‘!.i‘"}ﬁ“ 'f»emgmc p
(1)) Describe the factars on which upthrust of a fiquid depends. { dce W nMg c. A D. A
(i) Why sea large number of siots made in radiators? A st R a atomic radius
(xii) ~ Cenvert lgem™inta kgm™. ()  Indentiy the element which tee “;me;“ " c Cs p. Fr’
B. X f
(xiv) & Why does the p of a solid not i during its fusion process? A Me 3 iod has highest elacironagativity?
b Differentiate between boiling and condensatiar. (vi) ~ Which of the glement o o s 2 %
{xv)  How does evaporation differ from vaperization? . : A Na - B P. ) ' B
: . ' : (vily  |dentifythe covalent compound. e Mo p. M
' SECTION — C (Marks 20) ' A KE B HO '
Note: " Attempt any TWO questians. All questions carry equal marks. - (2x10 =20) ) How many moles of Na aloms are present in 239 ulNa‘; S o i
i) c 3 z
oo I i. - Draw distance-time graph for an object maving with variable speed. (2.5) A - 0A5moles B . TS,
il. " How can the sfope of the graph be determined? (1.5) w e oxidation state of Bin H,BO, & - N .
ili.  What information does the slape provide? ) (02) - g +2 B: "M c -
b, State and explai y 7 i e o : i .
and explain Newlon's ﬁm law of mation, (2+2) ) Galvanizing s ¥ . 8 Coating withCu
o0 o o _ . p CoalngwitiCr b, CoatingwthSn
. 2, efine three states of equilibrium. Explain these states with reference to the centre of gravity. (2+2+3) Coating with Zn ’ caction CuQ pehaves as.
. c. n this ¢
b. A motor boat moves at a steady speed of 4ms™ . Water resistance acting on it is 4000N . Calculate e the following reaction: CuO*H,———rCm-HlO n s Reducing sgent
" the power of its engine. i (04) % (i) - L) Iyte [ Catalyst C.- S e
A Efectroly i .
. ——
as5 a Define Pascal's Law and name any four warking systems (machines) of its application. (1+2) o U ' @
i it g ; miner's use only: S £ -~
b. What is a bimeial strip? Name any two instrument whera bimetal strip Is used, (1+1) For Exa ; L Tatal Marks: .
; e ' . QObtained: |II 3
c. How much heal is lost in an hnur_h‘u‘augh @ glass window measuring 2.0m by 2.5m when inside il I
temperature is 25°C and i : : 3 '
pe ! that of outside Is 5°C, the thickness of glass s 0.8cm and the value of . © s ms—

K for is 0.8Wm™ K7,
glass'is m ) (05)

— 154 1807 (1) —
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CHEMISTRY SSC-I

Time allowed: 2:40 Hours Total Marks Sections g and .

NOTE:  Answer any sleven parts from Section ‘8’ and any two questions from Saction ‘Con

neatly and leglbly,
SECTION =B (Marks 33) T
Q2 Answer any ELEVEN parts, The answer l:|} each part should nat excesd 3 to 4 lines, (Mx3= i
] Determine the molecutar mass of | ’

3 (ME)CO b NHNO, & CHoO,

(0] Define heavy water. Give tha cumpaﬁann of ardinery water and haavy water
(W) Whatis Carben dating? How does Chrbon — 14 dating wark?
(V) Define periodic table, What s its has;a?
i) Define atomic size. Interpret trends i
v} Draw Lewis electron cross and dot s
a Cch b Sicl,
Enlist the main postustes of Klnetic Molacular Theary.
The boiling point of water on the iop prh;'hunl Everestis
fix) Wy tin plated steelis used tg make s
{x} Sketch aut an electrolytic cell, labef |
{x) - Arrange the following in arder of ing

{ali)  With the help of chemical reaction
surface?

|
alomic size across groups and periods,
clures for the folowing malecules:

&
(vii)

(viii)

T0°Cwhils In Murrea it is58°C 3
od cans? ’

and indicate the direction aof flow of electrons,
Teasing acid sirength:  Hey, HI, HBrand HF

prove how breathing equipment keeps sea divers alive under water

Define exidation ang reduction in terms of

— loss and gain of electrons, ustrate the concepts with the heip
{xiv)  Differentiate with the help of suitable examples:
a Atam and ian,
" b Molecutar ion ang free radicall.
)

How can ol tanks be prever
ted fmm'cunaslm? Suppolr your answer with diagrarn and a
f

n example,
8 N=C {Mark
Nate: A 5o
o ftempt any TWO questions, All questions carry equal marks,
A a. Make Bohr's modals for the following wlemenlr ‘ i
a Potassium (71 ) b / I ma}
. Silican ( ¥sj )
B State postutates of pajion. y . i b 1
: aiton's atemie theory. What is the basic contribug i
_— | ution of this theory fer chemical
| ?
Q4 3 Define loniz & Ii -
i U
! ond, Use eiactmn_ dot and cross madel o write th
st . ; 2 equation for the formation of an
b, What is hydrogen bong ;

ng? Explain hydr én by .

o '?\1 998 bonding in water by wtlizing elastron dotand cross ,

Q5 a t i '; -

; SWha 8 corrosion? Explain carrasion of ron win the hefp of chemica)
X odium Chioride and Glysos ‘ ) e
& both are sofype in fum o
waler
is greater thap Qiucass, Why? Expéainl e . i Mets hact }
(05)

1S4 voa gy

53

. the ggpg,

Provided answar boak, Usa supplomentary answar shest Le, Sheet-B If required. Write y:u:’amf;!eiy
®

g1g. of Candidate.

Roll No- D:D:’:D @ Answer Shest No,

Slg. of Invigllator,

BIOLOGY SSC-| ;
SECTION - A tarks 121 /S/0LOGY

od: 20 Minutes
wed:

g all2 n-A is compulsory. All parts of this sectlon are to ba answered on the question paper itssif.
. sectO be completed In the first 20 minutes and handed over to the Centre Superintendent.
NafE- If.'l’:“:gmumritlng is not allowed. Do not use fead pencll.
D

1o the corract option l.e. A/ B C | D. Each part carrles one mark.
e \which of the following contains unicallular organization?

L A Mustard plant B, Human C.  Euglena D.  Frog
; wwho first ime observed piasmodium in the malarial patient? »
f A Laveran B. “AFAKng C Ronald Ross  D. Aistolle
s 2 ”
=i ich animal has NOT became extinct in Pakistan
@ menan B Asiatc Cheetah
A Lion 2
&r
c. Marcopolo sheep D. ig
i ing i itosis: .
(v)  Which of the following is cerrect for m & Chromosomes AuMber femains Same
A, Removal of chromosemes ; o |ncrease in number of chramosomes .
C. Reduction of Mmﬁs?mas_ st ils chal:a.cler! are eukarystic multicailular hete ruuophy mll:h
e NomciGiARI AN 1 20 :l i s on tne food for interral digestion. To wh
multicallular sex organs and secretion of digestive enzym .
Kingdem does this organism belong? 5 5 prowa
imali B.  Plantae cC. g e
A AT i \ution, ts yacucle increases n size
(vi)  Whenaplant celiis placed in 2 hypotonic so ”"“‘; D omatie
A | : ;
‘A Plasmolysis . 5 D—
c. Turgorprassufe i .
' ; sctive site by affecting the:
(vij _ ChangeinpHean alter the a:: _ g Shapecfine substale
A 'unmﬁ_m 01; ::m? D, lonizationof menzvme:
¢. .+ lonization O G
. s of all type of cells ) Gilides
a) e mcrenaRy ot I:N.& ' c. ATP b
B.
DNA " .
A | NOT-the dccessory pigment for photosyathesls? lenoigs 'D. etanin
A B:j chyila B chiorophylib €. cy;_a S
i " . raquired for the formatian of €0 i
ins is reqy = itamin
I - Is\.fuarmm' np C . vynaminC > pecome part of body 1S
: inA~ B nds that
A ViteminA 1 srapte absotbad oo o complex compay
jon o : s -
. Pprocess of convers . " il
(%} called 85 o Assimiation [ngestion . Which of the following is NOT
Ao DESIN e bood cells hat contain granuar CHROPIEET.
: e nils
i)-  Granulocyte 8 8 WEE 5 o pasop
i) \ne u,anulocn_e'f. . Eotophis  C: Neutrophils
r & .
A Tiymphocyt i )
P
nly: ' Total Marks:
For Examiner's use onby:
Marks Obtained: { !
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glOLOGY SSC-!

Total Marks Sectiong Ba
n
two questions from Sectlon 'C’ g,

g

Time allowsd: 2:40 Hours

g and 8Ny It the 5,
et l.o. Sheet-B If required, Write . >®Pary,
NOTE: Answer any aleven parts from tary answer sh Your g 2tuly
vided answer book. Use supplemen NG,
mm and legibly. = ™
should not excesd 3 to 4 lines, 1
The anawer to sach p7t Muxyy,
Q.2 Attempt any ELEVEN parts. 3)
0] Cefine the folowing ion c. Cummunﬂy
B Populat
a Species
ing vectors:
d disease of the folowing
() Wnte e rameof wm:ﬂﬂﬂ: Cusk c Aedes

a Femaie Ancpheies
Enist thres obsenvabons made by AF A KIng.

Five kingeom system of classification of Rabert

() :
" Whitizker was madified by Margulis ang Shawar, Whey

(v}
are the bases for this system of classification?
e} (v)  Drawalaceed stuchure of fuid — mesaic model of cell membrane.
(W)  Whatis the menstematc tissue? What are the types of meristematic tissues? Write down thej —
fwi) & What 5 necrosis? .
b What are the causes of necros is?
c \When does necrosis occur in 3
[vii)  We down the of g i )
a Oscar Hertwig b. Watther Flemming c Thomas Hunt Mergan

(x)  Draw a labsied graph to show the working of 2n enzyme in Jawering the activation energy of a chemjeg -
reachan.

(x) Wiite down major steps of Calvin cycle.

(1)
(i)

Descnbe the process of lactic acid fermentation.

What are the phatosynthetic pigments? Writs down thelr role in the process of photasynthesis.

(xfi}  Describe the role of patassium ions in the opening and dcsfng.nf stomata.
{xiv)  How does human heart work as double pump? I
(xv)  Diffa b the ath ferosis and arteriosclerosis,
SECTION - C (Marks 20) (e &
Nots: Attempt any TWO quast] : % 5% /
- N ons. All questlons carry equal marks. \- (2x10=20)
" a. fine myocardial infarction. Give jts
. cause
b, Discuss the elactron transport chain of msp:;]g;"pfﬂns A ReR S frieeead
. (03
Q.4 a Liver is the largest i
! gland in human bpd, i
s . Y, It plays o "
) 5‘}’,} : 2:; “:\LS s h:m down other imporian fo ;L :Pl?:;?am fole in digestion. How does it help in
StWeen cytokinesis i plant and aniomef i (02+04)
Q5 a Differentiate betwsen diftysj ' i
5 ! sion, faciltateq gj

g White down priciges of ce iy ated diffusion ang 0smosis, : 02+02)

€ Give scientfic names of Star fish ang Hoyse Crow ’ L (03)

. ' . (0.5+0.5)

184 Ay

@ Answer Shegy ng, %—CLA‘.L

—_—
Sig, of ln\rlm\“ﬂ‘

MATHENA

mcm\_;mmm?o_ﬂa

Js compulsory. All parts of tig 5

-A action Sci
zilom completed In the firsy 3 e 1o by an {: ce Grou
50 pould b:mgung Is not allowed, po :ﬂ"‘m“:dlnn Nanded quar Lo ® QUEston paper Iu::

12 the Cantre Superintendant,

7 1 iinglo” pencil,
; tlonle.AIB/C
e correct OP /D, Bach pant carrieq one mark,

I
q ¢  atrx s skew syrnrnet:c L
L A5 i € y=a o
sl partof 2ab(i +)s: L
B, - \ 3
A 2ab 2ab c. 2abi " - %
It 10t = 100 then: " -
(ﬁj 2-'.03100 8. 2=lo »
* 5 Bwll € 10=tog,10 D 100=tg,10 \
a =0 jsequalter
) a= : T
A (a" —ab+b') B. " (@ +abtb’) C. a'+ bt 0. a -
Factors of x* =x—6 are: :
LN x+lx=6 B .. x=23-3  C  x-Lx+6 D xvdx-d
e product of two algebraic expression is equal to:
LU HC.F+LC.M B. HCF-LCM
C. HC.FILCM D. HCFxLCM
iy xX= 0 is a solution of the inequality:
Wb x>0 B.  3x+5<0  C  x+2<0 D, x-2<0
) \Which ordered pair satisfy the equation y =12x
A 1,2 B. @D c. Q@ D. (LAY
G ~ Midpoint of the points (2,-2) and (-2,2)is:
A @2 B (22 c o D b \
i intersect at oints .
() Lwa hneg :n intersec ‘ T p 1 Hirom B nfinide
) ) ) : are congruent and paraliel, then itis a.
() if two npg:::::des . quadﬁlaézr:l‘ang‘e . ‘ Paralielogram  D. Trnangle
. ; ; H rs.
{xi) ilsec:lmré r::ans to dwld% into — equal Fg —_— b,  Faur
(i)  Perpendicular to a line form an an:[;"e of: % - o. 180°
A. 30" B. ' .
- ch of the other side st
i led tiangle 1s {2em then €2
(xiv)  If the hypotenuse of an isosceles ;::1 ang c. lem 0. 4cm
A lem .
" : congruent, .
(xv) The altitudes of an isosceles yriangle gr.e nqr b o, Four )
A One g, 1w .
—_—
For Examiner's use only: Total Marks:
) Marks Obtained:
__ysh 1m0
| .
J k__
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MATHEMATICS SSC-|
(Science Group)

Time allowed: 2:40 Hours Total Marks Sections B and ¢:

NOTE: Attempt any twalve parts from Section 'B" and any thres questions from Section 'C' on the sen.s §0
provided answsr book, Use supplementary answer sheet |.e. Shest-B If required. Write your :n‘:i\my
neatly and legibly. Logbook and graph paper will be provided on demand. A

SECTION — B (Marks 36) = =

Q.2  Attempt any TWELVE parts, All parts carry equal marks. (12x3=3g,
11 i .
m WA= 20 then verify that 4 — A' iz skew symmetric.
(i} Two sides of a rectangle differ by 3.5cm and perimeter of rectangle is 67em Find the dimensions of
rectangle by using ‘Cramer's rule’, L o ¥k
a -4 =2
(i) If A -[ .l ZJ' s.[ A l]m:n verify that (48)" = 574"
; . )(216)* x(25)%
Simpl e
(iv) implify 0on%
= 4=3f

(v} Cafculate z2-7 it 2= -
2+4i

() Find the value of ' =" if log,, & =% '

3
{w)  Use Log ta find the value of (33 V0.056
(388)°
k] 3
(viij  Reduce tothe lowest form 2 —& =37,
4+3x—x"

{ix) Solve the inequality 3x—2<ix+1<dx+17
x) Solve following pair of equations graphically 2x+ y=0 and x+2y=2

. 2 1 3
i) Simplify ——— -
® Y B Al Bl

(xi)  Solve ’ﬂ[-l.ﬁ : -
4 3 3

(xii}  Verify that the points A(0,7), 8(3,-5), C(-2,15) are collinear.
(xiv)  Factorize (x+2}{x+3}x+4)x+5)-15
{xv)  Determine the value of 'k 'if p(x) =k’ +4x" +3x-4dand g(x)=x"—4x +k leaves the same reminder
when divided by x—3
{xvi)  Factorize by factor theorem x' +5x° =2x-24
{xvi) Find the H.C.F by division of x* +x* =26’ +x-3;  §x' +34' -17x+6
(xviii} Find square root of {x? +Bx+ T){2x* —x - 3)(2x* +11x-21)

SECTION — C {Marks 24)

Note: Attempt any THREE questions. All questlons carry equal marks. (Ix8=24)

Q.3  Prave that mid-point of the hypotenuse of a right angled triangle is equidistant from its thrae verticas
P(-2,5), Q(L,3) and R(-1,0)
Q.4  Any point equidistant from the end points of a line segment Is on the right bisectar of it,
Q.5 Inacorrespondence of two triangles, If three sides of on triangle ara congruent to the correspending three sides of
the other, then the two Iriangles are congruent,
Q.6  If the square of one side of a triangle is equal to the sum of the squares of the other two sides then the triangle is a
right angled triangle.
Q.7 Construct the tnangle PAR. Draw their altitudes and show that they are concurrent.

miP=16em, m£Q=30", mZP=105

TR

Roll No. m mmsmumﬁﬁm N

) sig.of Candidate. - Sig. of Invigllater,___ "

........ - ComBret.. -

COMPUTER SCIENCE SSC-1°
SECTION - A {Marks 12)

: (O1d Syllabus)

owed: 20 Minutes

] ion—A = compuisory. All parts of this sectlon are to be answersd on the question paper el
ploTE" 1t should be completed in the first 20 minutes and handed over to the Centre Superntendent.
Dmnwwmdﬁng Is not allowed, Do not use lead pencil.

g all

" Zirele the correct option Le. Al B1 C 1D, Each part carries one mark.
al
0 An Assembler is alan:
A Low-level language B System Software
C.  Application Sofware D.  Transiating Machina

{il) Transistor was invented in;

A 1948 AD B, 1847 AD C. 1950 AD D.

(i) ~ RAMota computer is
A Permanent storege
C. Primary storage

B Secondary Memory
o Mon-Volatie Memary

Auctor memony?

(iv) hich of the following is NOT @ & — D.  Secondary Memeny
A ROM 8. RAM )
)  Spacebaronakejboardisd part of the: o NumercKeypad i
A Apha m:: Wm . Screen Navigation and =0
c. Fungction ediing i
. hard dick wih wo Blaliers
_ of tracks in one cylinder of o =
o ‘:n""m:“ P c. 8
?
; OT an executie command 1 coPY
) whicno!mhﬂwmﬂ’s: e .  REN D
A CLS .
7
/ o te OS intemal command [ NS
(i) Whicn o the fokiowing i & EDIT g, DEUTREE .
p  ERASE . - i \
meny of MS-ord: cu+l \
is NOT presentan edit D =
(ix) The comiT .g:d s 8 GoTo C. Find ” -
A Fonl b v
isatype of Uistoox i, MRS s
) A tenibok o Menu box c. “
s  Command . our document aher every: — \
i) By defaut, MS Ml wwo um!\:% [+ 15 rinutes 0. .
It - B )
§ minutes
A
; ses — selecied ¥
iy Pressma O = thm B TN h"::m to appest
L whale d Office ASSIS
.
c. e
For Examiner's use onty Total Marks: @

Marks Obtained: B
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Total Marks Sections B and . @

'8’ and any two questions from Section 'C’' on _zmwﬁlﬂmﬂ
¥

Sheet-B if required. Write your answery

Time allowed: 2:40 Hours

NOTE:- Answer any nine parts from Sectlon
provided answer book. Use supplementary answer sheet l.e,

neatly and leglbly. _ -
—
SECTION = B (Marks 27

Q.2 Answer any NINE parts from the following. All questions carry equal marks. (9x3=27)
(i) Describe briefly PAN networking.

(i) List the advantages of ring topology.

(iii) Give any three common symptoms of infected computers by malware attacks.

(iv)

(v)  Define Real Time System,

Why is operating system important software for a computer? Give any three reasons.

(vi) What is meant by CDMA?

(vii) State any three problems which may occur if vmm?ﬁ..vmmq network is used for a large number of users

in a large organization,

(vii) Compare Macintosh OS and Linux OS.

(ix)  Write down 2 brief nate on Asynchronous transmission,

(x) Briefly describe the page orientation in MS-Word u_.om_.m__i.

(xi) ~ Whatis Inpage Urdu ma_ﬂo_.v.

(xii) Differentiate between attenuation and man_anm.z_oz.

(xiii) - What is network architecture? Name its different types. :

SECTION - (: (Marks 16) ¥ . :

Note: Attempt any TWO .n.zmmzo:.m‘ Al questlons carry equal z._uﬁx_m. h 3 (2x8=18) ,
Q.3  Discuss-any four output devices. | . ﬁ+u+m+£.
Q.4  Write a note on the following: o o : L A_N :
. _ 2 : o _ . T (2424242)
(i) Router (i) Hyperiink e " e .

(i) . Bluetooth- - (iv) . ISDN h

Q.5 Define computer ethics and write down some important moral guidelines for ethical use 2.8_5?._"2

technology. - ) o o 1o¥d
. & . i ST . , (2+6)

..
—— 1SA 1811 —
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